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General Instructions: 

1. This paper is divided into two parts: A and B. All questions are compulsory.

2. Separate instructions are given with each section and question, wherever necessary. 

     Read these instructions very carefully and follow them.

3. Do not exceed the prescribed word limit while answering the questions.

1.Read the passage given below.

I. Much to their annoyance, pen-

words- except that sometimes they can be wrong 'words 'as happened last week when Reuters  was 

forced to withdraw more than 900 pictures taken by a freelance photographer after it was suspected 

that he had" doctored"  two recent photographs of the Israel

2. In one picture, the smoke billowing from an apartment block after an Israeli air 

allegedly thickened by the photographer, Adnan Hajj, to 

and in another two flares were suspected to have been added to an ima

over Lebanon. 

 3. The allegation of doctoring, first made by several bloggers

house investigation. Mr. Hajj, who had sold pictures to Reuters for more than 10 

manipulating the two photographs and 

and the fact that he was "trying to remo

problem with it-not at all." 

 4. But Reuters was not convinced 

would not be using his service any more

we shall not be accepting or using pictures taken by him,

5. The idea that the camera never l

mislead. What the' eye' sees is not always what it looks like

the camera and then the photograph can be 

DELHI  PUBLIC SCHOOL, RANCHI

PRE-BOARD – I (2020-21) 

ENGLISH LANGUAGE AND LITERATURE (184)

                                                            Subject:

                          F.M. :

 

1. This paper is divided into two parts: A and B. All questions are compulsory.

Separate instructions are given with each section and question, wherever necessary. 

Read these instructions very carefully and follow them. 

Do not exceed the prescribed word limit while answering the questions. 

PART A (40 Marks) 

    READING (20 marks) 

1.Read the passage given below. 

-pushers are routinely reminded that a picture is worth a thousand 

except that sometimes they can be wrong 'words 'as happened last week when Reuters  was 

forced to withdraw more than 900 pictures taken by a freelance photographer after it was suspected 

had" doctored"  two recent photographs of the Israel-Lebanon conflict. 

2. In one picture, the smoke billowing from an apartment block after an Israeli air 

by the photographer, Adnan Hajj, to dramatize the impact of

ares were suspected to have been added to an image of an 

first made by several bloggers, was confirmed by Reuters

, who had sold pictures to Reuters for more than 10 

manipulating the two photographs and attributed the thick smoke in the first picture to' b

ing to remove dust marks". As for the second, he said,

. But Reuters was not convinced and said it was removing all of his pictures from its data

would not be using his service any more. "This represents a serious breach of Reu

be accepting or using pictures taken by him," the news agency said.

The idea that the camera never lies is as misleading as the notion that all statistics are 

es is not always what it looks like, thanks to the many

the camera and then the photograph can be - and is often- manipulated. Indeed,
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routinely reminded that a picture is worth a thousand 

except that sometimes they can be wrong 'words 'as happened last week when Reuters  was 

forced to withdraw more than 900 pictures taken by a freelance photographer after it was suspected 

 

2. In one picture, the smoke billowing from an apartment block after an Israeli air strike was 

the impact of bombardment - 

an Israeli jet in action 

was confirmed by Reuters after an in-

, who had sold pictures to Reuters for more than 10 years, denied 

thick smoke in the first picture to' bad lighting' 

he said, "There was no 

was removing all of his pictures from its database and 

"This represents a serious breach of Reuters standards and 

" the news agency said. 

as misleading as the notion that all statistics are meant to 

, thanks to the many ways in which first 

Indeed, a photograph can 
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be manipulated in more ways- and more effectively- to convey a false reality than it is possible to do 

through the written word. Ask any clever photographer and he will tell you the tricks camera be 

made to play. 

6. At a seminar recently, one journalist recalled how there was a time when British photographers, 

covering stories about famine or floods in Third World countries would carry toddy bears with them 

in order to use them as prop for pictures supposedly showing that all that was left  in household, 

stricken by death and destruction, were children's toys.(Source: The Hindu) 

 On the basis of your understanding of the passage answer ANY TEN questions                (10X1=10) 

(i) While covering stories, British photographers used teddy bear as: 

(a) manipulation 

 (b) props 

(c) conflicts 

(d)statistics 

 

(ii) The picture of the smoke rising from an apartment block in Lebanon: 

(a)was actual pictures 

(b) was manipulated by a photographer deliberately 

(c) appeared thick in picture due to bad lighting 

(d)All these 

(iii) As per the passage, a camera 

 (a) always gives fake pictures 

(b) never gives fake pictures 

(c) sometimes may give fake pictures 

(d) None of these 
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(iv) British photographers left teddy bears in household, stricken by death and destruction in floods in 

Third World countries with a view to: 

(a) show that all that was left in household were teddy bears 

(b) show that most of the flood victims were children 

(c) Both (a) & (b) 

(d) Neither (a) nor (b) 

(v) Choose the option that best captures the central idea of the passage from the given quotes 

    (1)"What the photograph reproduces to infinity has occurred only once"- Roland Barthes 

   (2)"There are no bad pictures; that's just how your face looks sometimes"- Abraham Lincoln 

  (3)"Photography deals exquisitely with appearances, but nothing is what it appears to be"- Duane  

Michals 

  (4)"The two most engaging powers of a photograph are to make new things familiar and familiar 

things new"- William Thackery 

(a)Option (1)  

(b) Option (2) 

(c) Option (3) 

 (d) Option (4) 

(vi) Which of the words is apt for photographer, according to this passage? 

 (a) Creator 

(b)Dramatist 

 (c)manipulator  

(d) Developer 

(vii) Select the option that makes the correct use of 'attributed' ,as used  in the passage to fill in the 

blank space. 

(a) She----- her success to constant hard work and dedication . 

(b)The entire manufacturing process has been---------. 

(c) The Health Ministry held-------with his counterpart. 

(d)Guest should--------their rooms 
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(viii)The author attempts to--------the readers about manipulated photography. 

(a)warn 

(b)educate 

(c)scare 

(d)lure 

 

(ix)Choose the option that correctly states the two meaning of' dramatize' 

(1) To present a book, an event etc. as a movie  

(2) To make something seem more exciting 

 (3) A situation in a play 

(4) A play for the theatre, television or radio 

(a) I and 3 

(b) 2 and 3 

(c)3 and 4 

(d)1 and 2 

 

 

(x) Which of the following will be the most appropriate title for the passage? 

(a) The photography is merely imitation 

 (b) Photographers are imitators 

(c) The camera can lie-sometimes 

(d)Manipulation in photography 

 

 



 

 

 (xi) The allegation of doctoring means:

(a) photograph was beautiful 

(b) photograph was being manipula

(c) photograph could imitate reality

(d) photography are good copies of reality

 (xii) The word 'supposedly' is synonymous

(a) supply 

(b) allegedly 

(c) Reluctantly 

(d) potentially 

2. Read the passage given below.

India is one of the fastest growing  economies in 2020. Poverty is on the decline with close to 44 

Indians escaping extreme poverty every minute, according 

the Brookings report, today India has 73 million people living

 5. 5% of its total population. 

 Two-thirds of people in India live

day. Over 30% even have less than S1

More than 800 million people in India are considered poor

keep afloat with odd jobs. The lack of employment  which

driving many Indians into rapidly growing metropolitan cities, such as Mumbai, Delhi, Kolkata and 

Bengaluru. 

(xi) The allegation of doctoring means: 

) photograph was being manipulated 

(c) photograph could imitate reality 

(d) photography are good copies of reality 

) The word 'supposedly' is synonymous with: 

2. Read the passage given below. 

India is one of the fastest growing  economies in 2020. Poverty is on the decline with close to 44 

Indians escaping extreme poverty every minute, according  to the World Poverty Clo

y India has 73 million people living in  extreme poverty 

thirds of people in India live in poverty, 68 8% of the Indian population live

than S1. 25 per day and such people are  considered 

n people in India are considered poor. Most of them  live in the countryside

. The lack of employment  which provides  a live able wage in rural areas is 

driving many Indians into rapidly growing metropolitan cities, such as Mumbai, Delhi, Kolkata and 
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India is one of the fastest growing  economies in 2020. Poverty is on the decline with close to 44 

to the World Poverty Clock. According to 

extreme poverty which makes up 

e on  less than $2 a 

considered extremely poor. 

. Most of them  live in the countryside and 

able wage in rural areas is 

driving many Indians into rapidly growing metropolitan cities, such as Mumbai, Delhi, Kolkata and 



 

In 2019, the Indian government stated that 6.7% of its population is below its official poverty limit. 

According to Oxfam, India's top 1% of the population now holds 73% of the wealth while 670 million 

citizens, comprising the country's 

Poverty Line, poverty reduced  from 14.9 per cent in 2011 to 7

the country has seen yet. So, 2020 is extremely challenging year not only for government and 

business, but also for those who are on the borderline of poverty

administrative policies have to be designed

brink of poverty Lifting people out of poverty ought to be on top of the governme

On the basis of your understanding of the passa

 

In 2019, the Indian government stated that 6.7% of its population is below its official poverty limit. 

According to Oxfam, India's top 1% of the population now holds 73% of the wealth while 670 million 

citizens, comprising the country's poorest half, saw their wealth rise by just 1%. As per the Tendulkar 

Poverty Line, poverty reduced  from 14.9 per cent in 2011 to 7.0 per cent in 2017

the country has seen yet. So, 2020 is extremely challenging year not only for government and 

also for those who are on the borderline of poverty. Fiscal, monetary and 

administrative policies have to be designed in a way that provides a safety for those living at the 

brink of poverty Lifting people out of poverty ought to be on top of the governme

On the basis of your understanding of the passage, answer ANY TEN questions
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In 2019, the Indian government stated that 6.7% of its population is below its official poverty limit. 

According to Oxfam, India's top 1% of the population now holds 73% of the wealth while 670 million 

heir wealth rise by just 1%. As per the Tendulkar 

0 per cent in 2017- the fastest pace 

the country has seen yet. So, 2020 is extremely challenging year not only for government and 

Fiscal, monetary and 

a way that provides a safety for those living at the 

brink of poverty Lifting people out of poverty ought to be on top of the government's priority 

 

questions              (10 x1=10) 
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(i) As per the graph, which of these is/are the cause(s) of poverty in India? 

 (a) Colonial past 

 (b) Lack of education 

(c) Population explosion 

(d) All of these 

 

 (ii) According to the graph, which state has the highest number of people living below poverty line? 

(a) Rajasthan 

(b) Bihar 

(c) Madhya Pradesh 

 (d) Uttar Pradesh 

 

(iii) Today, how many people in India live in extreme poverty? 

 (a) About 5 crore 

 (b) About 6 crore 

 (c) About 7 crore 

(d) About 8 crore 

 

(iv) What percentage of the Indian population live on less than Rs.100 per day? 

 (a) 68 8% 

(b) 30% 

 (c) 40% 

(d) 60% 
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 (v) Based on your understanding of the passage, choose the option that lists the reason  for people 

migrating to metropolitan cities 

  1. Poverty 

  2. More employment opportunities in metropolitan cities 

 3. Government schemes 

 4. Lack of employment 

 5. Better crops 

(a) 1,2 and 5  

(b) 1, 2 and 4 

 (c) 2,4 and 5 

(d) 2,3 and 4 

 

(vi) How many people in our country are considered poor? 

 (a) 10 crore 

 (b) 20 crore 

(c) 50 crore 

(d) 80 crore 

 

(vii) One of the policies that is required to be designed in a way to provide safety for those living at 

the brink of poverty is 

 (a) fiscal 

(b) monetary 

(c) administrative  

(d) All of these 
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(viii) According to the Indian government, what percentage of the Indian population were below 

poverty line in 2019? 

(a) 4% 

(b) 5.5% 

(c) 6.7% 

(d)7.3% 

 

(ix) In the line"...........employment which provides a live able wage", the word 'live able'  DOES NOT 

refer to. 

(a) good enough 

(b) acceptable 

(c)frugal 

(d)comfortable 

 

(x) Poverty in India reduced at the fastest pace in: 

(a) 2010 

(b) 2012 

(c) 2015 

(d) 2017 

 

(xi) Choose the option that lists statement that is NOT TRUE. 

(a) One-third of people in India live in poverty. 

(b) Corruption contributes to poverty 

(c) Chandigarh has the lowest number of people living below poverty line. 

(d) Poverty may develop due to limited resources.  
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(xii) The year 2020 is an extremely challenging year for: 

(a) the government 

(b) the businessmen 

(c) the people living on the border line of poverty 

(d) All of these 

 

LITERATURE (10 Marks) 

Q3. Read the extracts given below and attempt ANY ONE by answering the questions that  

follow.            (5x1=5) 

A. Bishamber Nath was a well-to-do grocer. He came with a big party of friends a relations with him 

for the wedding. A brass-band playing a popular tune from an Indian film headed the procession, 

with the bridegroom riding a decorated horse. Ramlal  was overjoyed to see such pomp and 

splendor. He had never dreamt that his fourth daughter would have such a grand wedding. Bholi's 

elder sisters who had come for the occasion were envious of her luck. 

(i)  Which of these items were not supposed to be sold by Bishamber Nath ? 

(a) Rice 

(b) Flour 

(c) Jewellery 

(d) Pulse 

 

(II) Choose the option that lists the set of statements that are NOT TRUE  according the  given extract 

1 Ramlal had a good business  

2 Ramlal did not invite any of his friends to his marriage function 

3. According to Bholi's elder sisters, Bholi bad a good luck 

 4. Ramlal was dead against Hindi songs 

5.Bholi's elder sister felt jealous of Bholi's good luck. 

 



 

 

 (a) I and 2 

(b) 2 and 3 

( c)3 and 4 

(d) 2 and 4 

 

(iii) Pick the option that correctly classifies fact

(a) F- 1, 2 and O-3,4 

(b)F  -2,3 and O-1,4 

 (c) F - 3.4 and 0 - 1,2 

(d) F- 2,4 and O-1,3 

 

(iv)Which word does 'well-to-do' NOT correspond to

(a) Wealthy 

(b) Disciplined 

(c) Affluent 

(d) Well off 

 

 

 

Pick the option that correctly classifies facts (F) and opinion/s(O)  of the students below

do' NOT correspond to ? 
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(v ) Ramlal was very happy to see the bridegroom on a decorated horse as: 

 (a) it had happened according to his expectation 

(b) he had never dreamt of such a grand wedding for Bholi 

(c) he saw Bholi to be very happy 

(d) he did not have to spend too much money  

 

B. The arrival of a  stranger at an inn in winter was in any case an unusual event A stranger of such 

uncommon appearance set all tongues wagging. Mrs. Hall, the landlord's wife, made every effort to 

be friendly. But Griffin had no desire to talk, and told her, "My reason for coming to Iping is a desire 

for solitude. I do not wish to be disturbed in my work. Besides, an accident has affected my face. " 

(i) The arrival of a stranger at an inn was unusual in 

 (a) summer 

 (b) winter 

(c) autumn 

(d) spring 

(ii) A stranger of such uncommon appearance made 

 (a) all run for their lives 

(b) all take shelter in their homes 

(c) all tongues wag 

(d) all come to look at the stranger 

 

(iii) Where was the inn located 

 (a) London 

(b) Iping 

(c) Drury Lane 

(d) None of these 
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 (iv) Why did Mrs. Hall want to be friendly with Griffin? 

  (a) She wanted to know about his reality 

(b) She was sociable 

 (c) He was a good guest 

(d) His behavior was nice 

 

(v) The extract uses the phrase, ' desire for solitude ' . Which of these expressions is incorrect with 

respect to the word 'solitude' ? 

(a) sad 

(b) solution  

(c) peace 

(d) privacy 

Q4. Read the extracts given below and attempt ANY ONE by answering the questions that  

      follow             (5x1=5) 

(A) 

I would not intrude on him: 

A dime, another ball, is worthless. 

Now he senses first responsibility 

In a world of possessions. 

People will take 

Balls, balls will be lost always little boy. 

And no one buys a ball back. Money is external 
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 (I)  The poet is reluctant to: 

  (a) give a ball to the boy 

 (b) console the boy 

(c) bring the boy's lost ball 

(d) None of these 

 

(ii) The poet personifies the ball as: 

 (a) the worldly things 

(b) the relationships 

(c) Both (a) & (b) 

(d) Neither (a) nor (b) 

 

(iii) Everyone must learn in his/her life the harsh truth of standing up: 

(a) against the wrongs 

(b) with his/her relatives 

 (c) against the odd miseries of life 

(d) All of these 

 

(iv) Now the boy has come to know that: 

 (a) people are always at risk to lose something 

(b) people have nothing to do with other's problems 

(c) people are always after wealth 

 (d) people are selfish 
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(v) The word 'rigid' DOES NOT have a meaning similar to: 

(a) fixed 

(b) firm 

(c) hard and fast 

(d)right 

 

(B) 

They do not sweat and whine about their condition, 

They do not lie awake in the dark and weep for their sins, 

They do not make me sick discussing their duty to God. 

 

(i) Animals don't feel: 

(a) miserable at their condition 

(b) satisfied at their condition 

(c) happy at their condition 

(d) excited at their condition 

 

 (ii) Animals have : 

(a) a disturbed sleep at night 

(b) a sound sleep at night 

(c) nightmares during their sleep 

(d) little sleep at night 
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(iii) If something wrong happens with animals, they: 

(a)don't show anger 

(b) don't show grief 

 (c) both (a) and(b ) 

(d) neither (a) nor (b) 

 

(iv)Animals are very truthful because: 

(a) they always boast of their good deeds  

(b) they never boast of their good deeds 

(c)they try to show their good deeds 

(d) they try to gain popularity 

 

(v)The poet is not irritated by animals because 

(a)  they don't do wrong to gain popularity 

(b) they stay happy with whatever they have 

(c) both (a ) and (b) 

(d) neither (a) nor (b) 

 

                                                                                             GRAMMAR                                          (10 MARKS)                                                              

5.Choose the correct options to fill in the blanks to complete the note about climate change in the 

Himalayas                                                                                                                           (3X1=3)                  

In the Himalayas, the desert (i)........... .Climate change in the Indian region of Ladakh(ii)............ and 

has made rainfall and temperature unpredictable. Water is needed to irrigate the fields. The 

government (iii)................ financial support for agriculture. 
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(i) (a) doesn't turn green 

      (b) will turn green 

      (c) has turned green 

      (d) is turning green 

 

(ii) (a) has shrunk glaciers 

      (b)have shrunk glaciers 

      (c) will has shrunk glaciers 

      (d) shrunk glaciers 

 

(iii) (a) does provided the farmers 

        (b) will provide the farmers 

        (c)  have provide the farmers 

        (d) provided the farmer 

 

6. Choose the correct options to fill in the blanks to complete John's narration.  (3x1=3) 

 

I found Joseph reading something. When I (i)........reading ,he replied that modals are actually weak 

verbs but quite interesting .I further (ii)............ in our practical life. I also made him aware that we 

can do without modals. On hearing this, he surprised me by saying that he knew modals help people 

express some specific situations At last he(iii)............modals. 
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(i) 

 (a) said to him which book he was 

(b) asked him which book  was he 

(c) asked him which book he was 

 (d) told him which book he was 

 

(ii) 

(a) enquired what are  the uses of modals  

 (b) told what the uses of modal 

 (c) asked what the uses of modals are 

 (d) explained what the uses of modals are 

 

(iii) 

(a) advised me go and read 

(b) said to me go and read  

 (c) told me go and read 

(d) advised me to go and read 

7 . Fill in the blanks by choosing the correct options for ANY FOUR of the six sentences given  

    below.                                                                                                                                                  (4x1=4) 

(i) Schools that have only...........teachers who know the language well ......seek the help of  

      other  schools 

(a) a few, may 

(b) a few, can 

(c)a few, should 

(d) less, some 
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(ii) The university has received the highest number of applications.............year in comparison 

to...........previous year. 

a) that, this 

(b) this, the 

(c) the, the 

(d) a, the 

 

(iii) What is your idea about happiness? "To make even one unfortunate happy if I...........” 

(a) may 

(b) will 

(c) should 

(d)can 

 

(iv) Our government...........to improve the condition of the poor in our country. 

(a) can 

(b)ought 

(c)may 

(d) will 

 

(v) In the hour of need, every man, woman and child….... to be ready for sacrifice. 

(a) has 

(b) have 

(c) will 

 (d) shall 
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(vi) By the death of Subhas Chandra Bose, a great leader and patriot.........lost to India. 

(a)have been 

(b) has 

(c)was 

(d) have 

 SECTION B 

WRTING                                                                (2X5=10)                                                            

8. Attempt ANY ONE of the following in 100-120 words                            (5 marks) 

(A) Along with air and water pollution, our cities are also under an attack of noise pollution. 

Marriage processions, DJs during wedding receptions, loud music from neighborhood flats etc. are all 

sources of noise which is not good for the old, the ailing and the students. Write a letter in 100-120 

words to the editor of a local newspaper describing the problem and making a request to the 

concerned authorities to solve it. You are Karan/Karuna,114-M, Mall Road, Delhi. 

                                                                                   OR 

(B) Yesterday you went to Sunrise Hospital, Market Road, New Delhi, taking with you the victim of a 

hit-and run accident. There were chaotic conditions in the Casualty Department. The injured was 

attended after a lot of precious time had been lost. Write a letter of complaint in 100- 120 words to 

the Medical Superintendent. You are Karan /Karuna, M114, Mall Road, Delhi 

 

9. Attempt ANY ONE of the following in 100-120 words.                  (5 marks) 

(A) Look at the table given below which shows the records of ICC World Cup from 2003 to2019. 

Interpret the data in about 100-120 words 

YEARS WINNERS SCORE RUNNER UP SCORE RESULT 

2003 Australia 359-2 India 234 Australia won by 125 runs 

2007 Australia 281-4 Sri Lanka 215-8 Australia won by 65 runs 

2011 India 277-4 Sri Lanka 274-6 India won by 7 wickets 

2015 Australia 186-3 New Zealand 183 Australia won by 7 wickets 

2019 England 241 New Zealand 241-8 Match tied after regular 

play and Super over 

.England won on boundary 

count 
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                                             OR 

B.

 

 

LITERATURE                                                                                                                   

(30 MARKS) 

10. Answer ANY TWO questions in 20-30 words each, from ( A) AND (B) respectively.             (2x4=8) 

(A) (ANY TWO)                                                                                                                           (2X2=4) 

(i) Who according to Nelson Mandela, is a courageous man ? 

(ii) Describe the  scene of falling of the dust of snow. What impact does it have on the poet ? 

(iii) What importance did the baker's furnace have in the villages of Goa? 

(B) (ANY TWO)                      (2X2=4)                                                                                      

(i) Why doesn’t  Anil hand Hari Singh over to the police ? 

(ii)How did the arrival of Griffin at the Iping inn was taken by the people and the landlady ? 

(iii) How did Richard Ebright excite the scientific world at the age of twenty two ? 
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11. Answer ANY TWO questions in 40-50 words each ,from(A) and (B) respectively.   (4x3=12) 

(A) (ANY TWO)                                                                                                                                (2X3=6) 

(i) Does Lencho have the same kind of faith in man as he has in God ? Taking examples from the 

story describe his attitude towards God and man. 

(ii)Why doesn't Anne want to jot down facts as most people do in a diary? Why does she call it her 

friend ? 

(iii) Why  are stanza 2,4 and 6 in the poem ,'Amanda' within bracket?  

(B) (ANY TWO )                                (2X3=6)                                      

(i) Did Richard Ebright have all the ingredients that are necessary in the making of a scientist?Give a 

reasoned answer . 

(ii) How did the hack driver outwit and befool the lawyer (the narrator) ? 

(iii) Describe the gradual progress of Tricki at the  surgery? 

12. Answer ANY ONE of the following in 100-120 words.                                 (5 Marks) 

(A)Why did KisaGotami understand the message given by Buddha only the second time? In what way 

did Buddha change her understanding? 

(B) In spite of being so powerful and displaying rare bravery ,why was the dragon Custard taunted as 

being a coward ? 

13. Answer ANY ONE of the following in 100-120 words.                                     (5 Marks) 

(A) The course of the Loisel's life changed due to the necklace. Comment. 

(B)"Bholi's real name is Sulekha but she is called by this name only in the last but one paragraph." Do 

you agree? Justify. 

 

************* 
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1. This question paper consists of two parts A and B.

2. Part A has two sections- Section I and Section II.

a) Section I has 16 questions of 1 mark each.

b) Section II has 4 questions on case study. Each c

examinee has to attempt any 4 out of 5 sub parts.

3. Part B has question number 21 to 26 of 2 marks each,

each and question number 34 to 36 of 5 marks each

4. Internal choices have been provided where ever applicable.

5. Use of calculator or any other electronic device is not allowed.

 

                                          

                                                  
 

1. If HCF of 306 and 657 is 9, then find their LCM.

2. If mode= 80 and mean= 110, then find the median.

3. Two concentric circles are of radii 10 cm and 8 cm, then find the length of the chord of the 
larger circle which touches the smaller circle.

4. Can two numbers have 18 as their 

5. A single letter is selected at random from the word PROBABILITY. Find the probability 
that it is not a vowel. 

                                             OR 

A  die is thrown twice. Find the probability that 5 will co

6. If 2 is a zero of polynomial p(x)=

                                             OR 

If the product of the zeroes of the polynomial 

7. Find out after how many decimal places will 

8. Find the coordinates of a point A, where AB is the diameter of a circle whose centre is (2,
and B is (1,4). 

9. Find the coordinates of the point which divides the l
and B(4,0) internally in the ratio 1:3.

                                         OR

Find the point on the X axis which is equidistant from (2,

DELHI PUBLIC SCHOOL
SAIL TOWNSHIP, RANCHI 

PRE BOARD – I EXAMINATION (2020-2021) 

                                                      Subject:- Mathematics

                   F.M. :- 80 

This question paper consists of two parts A and B. 

Section I and Section II. 

Section I has 16 questions of 1 mark each. 

Section II has 4 questions on case study. Each case study has 5 case based sub parts. An 

examinee has to attempt any 4 out of 5 sub parts. 

Part B has question number 21 to 26 of 2 marks each, question number 27 to 33 of 3 marks 

and question number 34 to 36 of 5 marks each. 

been provided where ever applicable. 

Use of calculator or any other electronic device is not allowed. 

 PART – A          
           SECTION – I        

657 is 9, then find their LCM. 

If mode= 80 and mean= 110, then find the median. 

Two concentric circles are of radii 10 cm and 8 cm, then find the length of the chord of the 
larger circle which touches the smaller circle. 

Can two numbers have 18 as their HCF and 380 as their LCM? Give reason.

selected at random from the word PROBABILITY. Find the probability 

 

A  die is thrown twice. Find the probability that 5 will come up atleast once.

If 2 is a zero of polynomial p(x)=4�� � 2� � 5�, then find the value of a. 

 

es of the polynomial 	�� � 6� � 6 is �3, then find the value of 

Find out after how many decimal places will 
��

�
�� terminate. Write its decimal expression.

Find the coordinates of a point A, where AB is the diameter of a circle whose centre is (2,

Find the coordinates of the point which divides the line segment joining the points A(0,4) 
and B(4,0) internally in the ratio 1:3. 

OR 

Find the point on the X axis which is equidistant from (2,-5) and (-2,9). 
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Two concentric circles are of radii 10 cm and 8 cm, then find the length of the chord of the 

HCF and 380 as their LCM? Give reason. 

selected at random from the word PROBABILITY. Find the probability 

me up atleast once. 

 

, then find the value of 	. 

terminate. Write its decimal expression. 

Find the coordinates of a point A, where AB is the diameter of a circle whose centre is (2,-3) 

ine segment joining the points A(0,4) 



 

10. If the lines given by 2x+ky-1=0 and 3x-5y=7 has unique solution, then find the value of k. 

11.  If 3 cot A= 4, find  
�������

�������
 . 

                                         OR  

Evaluate   
� ������°�� ������°�������°

������°�������°
  . 

12.  E and F are points on the sides PQ and PR respectively of a triangle PQR. If PE= 4 cm, EQ= 
4.5 cm, PF= 8 cm and PR= 17 cm, find whether EF∥QR. 

                                         OR 

In an isosceles right angled triangle, if the hypotenuse is 5√2cm, then find the length of 

equal sides of the triangle. 

13.  The ratio of the length of a rod and its shadow is 1:√3. Find the angle of elevation of the 

Sun. 

14.  Find the distance between two parallel tangents of a circle of radius 3 cm. Justify. 

15.  Find the length of arc of a circle of radius 21 cm which has corresponding sector of area 

346.5 sq. cm. 

16.  If tan 3θ=√3, then find the value of θ. 

 

                                                 SECTION – II           

Directions (Q. Nos. 17-20) Case study based questions. Attempt any 4 subparts of each 

question. Each sub-part carries 1 mark. 

17.  Vibha, a student of class X goes to Ganga river with her father. When she saw a boat in the 
river, she wishes to sit on it and her father agrees. They sit on a boat which goes upstream 
at a speed of 10 km/h and downstream at a speed of 14 km/h. Then answer the questions 
which arise in Vibha’s mind. 

(i) Find the speed(in km/h) of the boat in still water. 

a) 8            b) 10           c) 12             d) 14 

(ii) Find the speed(in km/h) of stream. 

a) 2           b) 3               c) 4              d) 5 

(iii) Which mathematical concept is used in above problem? 

a) Cross multiplication method 

b) Pair of linear equations 

c) Factorization method 

d) None of the above 

(iv) Write the direction in which the speed is maximum. 

a) Upstream                            b) downstream         

c) Both have equal speed                                   d) None of these 

(v) Find the average speed (in km/h) of stream and boat in still water. 

a) 7                 b) 10                  c) 12                     d) 5 
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18.  In a classroom activity, 4 friends are seated at the points A,B,C and D as shown in the 
figure. Champa and Chameli walk into the class and after observing for a few minutes, 
Champa asks Chameli, “Don’t you think ABCD is a square?” Chameli disagrees. 
Answer the following questions. 

 

(i) What are the coordinates of B? 

a) (6,7)            b) (7,6)             c) (5,2)                d) (8,3) 

(ii) Find the distance between A and B. 

a) 4√2             b)3√2             c) 5√2        d) 2√2 

(iii) Find the distance between B and C. 

a) 3√2            b) 4√2               c) 5√2               d) 7√2 

(iv) Find the distance between O and A. 

a) 6 units         b) 5 units           c) 7 units       d) 4 units 

(v) Find which of them is correct that ABCD is a square? 

a) Champa       b) Chameli           c) Both        d) None of them. 

19.  A mathematics teacher of class X writes 3 sequences on black board and asks some 
questions to the students based of given sequences. 

Sequence I : 11,14,17,20,………. 

Sequence II : 2,4,7,11,16,……….. 

Sequence III : 8,13,18,23,………… 

Now answer the following questions: 

(i) Which sequence is not an A.P ? 

a) I                b) II                c) III                  d) None of these 

(ii) Write the formula to find the general term of an A.P 

a) �" = � � $% � 1'(                  b) �" = � � $% � 1'( 

c)�" = � � $% � 1'(                     d) �" = � � $% � 1' 

             (iii)  Find the general term of A.P (I) 

a) 3n – 8           b) 5n+8             c) 3n+8        d) 5n – 8  
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(iv)Find the general term of A.P (III) 

a) 3n+5             b) 5n+3        c) 6n+9         d) 7n+9 

(v) If n=7, then the 7th term of A.P (III) 

            a) 28            b) 33           c) 38             d) 43 

20.  Mathematics teacher organized an activity for class X. He is interested in making a wooden 
article by scooping a hemisphere from one end and a cone from the other end of a solid 
cylinder as shown in the figure. 

 

Answer the following questions below: 

(i) Find the slant height of the cone.  

a)25 cm        b) 30 cm            c) 20 cm             d) 35 cm 

               (ii)  Find the volume(in c.c) of the hemisphere. 

a) 630                 b) 813.25             c) 718.67             d) 930 

(iii) Find the volume(in cc) of the cone. 

a) 1330                   b) 1140               c) 1232               d) 1535 

(iv) Find the surface area(in sq cm) of hemisphere. 

a) 315                     b) 405                  c) 450                      d) 308 

(v) Find the curved surface area(in sq cm) of cone. 

a) 630                    b) 550                    c) 730                     d) 933 

PART  -  B 

21. If ∑ *+ = 20, ∑ *+�+ = 2. � 20, and mean of distribution is 12, then find the value of ..   [2] 

22.  A box contains 5 red marbles, 8 white marbles and 4 green marbles. One marble is taken 
out of the box at random. What is the probability that the marble taken out will be : 

(i) red                            (ii) not green?         [2] 
                                                  OR 

A box contains 90 discs, which are numbered from 1 to 90. If one disc is drawn at random 
from the box, find the probability that it bears: 
(i) A two digit number.           (ii) a perfect square number. 
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23. If two tangents inclined at an angle of 60° are drawn to a circle of radius 3 cm, then find the 
length of each tangent.          [2] 

24.  Prove that: 
���/

�����/
�

�����/

���/
= 2 secθ           [2] 

                                                           OR 

Prove that : 
sin 6

1�cos 6
= 89:;8 6 � cot 6. 

25.  A chord of a circle of radius 10 cm subtends a right angle at the centre. Find the area of the 
corresponding minor segment.           [2] 

26.  Solve for x: √6� � 7  - ( 2x-7) = 0 .           [2] 

27.  200 logs are stacked in the following manner: 20 logs in the bottom row, 19 logs in the next 

row, 18 in the row next to it and so on. In how many rows, are the 200 logs placed and how 

many logs are in the top row?            [3] 

28.  Construct a tangent to a circle of radius 4 cm from a point on the concentric circle of radius 

6 cm and measure its length.            [3] 

                                                         OR 

Draw a line segment AB of length 8 cm. Taking A as centre, draw a circle of radius 4 cm 

and taking B as centre draw another circle of radius 3 cm. Draw tangents to each circle from 

the centre of the other circle.  

29.  A gulabjamun, contains sugar syrup upto about 40% of its volume. Find approximately 

how much syrup would be found in 50 gulabjamuns, each shaped like a cylinder with two 

hemispherical ends with length 7.7 cm and diameter 4.2 cm.       [3] 

30.  Prove that: :>%�∅ � 89:�∅ � 3:>%�∅89:�∅ = 1          [3] 

                                                           OR 

Prove that:  
��� ∅

��@AB∅
�

@AB∅

��BC"∅
= 1 � :;8∅89:;8∅. 

31.  A circular field has a circumference of 360 km. Three cyclists start together and can cycle 48, 

60 and 72 km a day, round the field. When will they meet again?       [3] 

32.  A triangle ABC is drawn to circumscribe a circle of radius 4 cm such that the segments BD 

and DC into which BC is divided by the point of contact D are of length 8 cm and 6 cm, 

respectively. Find the sides AB and AC.          [3] 
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33.     If the sum of first n terms of an A.P is 4% � %�, then what is the first term? What is the sum of 

first two terms? What is the second term? Similarly find the 3rd , 10th and the nth terms.    [3] 

34.  The distance between two vertical pillars is 100 m and the height of one of them is double 

of the other. The angles of elevation of their tops at the midpoint of the line joining their 

feet are complementary. Find their heights.            [5] 

35.  Sides AB and AC and median AD of ∆ABC are respectively proportional to sides PQ and 

PR and median PM of another ∆PQR. Show that ∆FGH~∆JKL.       [5] 

36.  The length of 40 leaves of a plant are measured correct to nearest mm and the data obtained 

is represented in the following table:           [5] 

Length (in mm) Number of leaves 

118-126 3 

127-135 5 

136-144 9 

145-153 12 

154-162 5 

163-171 4 

172-180 2 

 

Find the median length of the leaves. 

                                                                   OR 

The following frequency distribution gives the monthly consumption of electricity of 68 

consumers of a locality. Find the median. 

Monthly consumption (in units) Number of consumers 

65-85 4 

85-105 5 

105-125 13 

125-145 20 

145-165 14 

165-185 8 

185-205 4 

 

 

************** 
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GENERAL INSTRUCTIONS: 

1. This question paper contains two parts A and B.

2. Both Part A and Part B have internal choices.

 

PART-A: 

1. It consists of two sections – I and II.

2. Section I has 16 questions of 1 mark each .

3. Section II has 4 questions on case study . Each case study 

has case-based sub-parts. An examinee is to attempt any 4 out of 5 sub

PART B: 

1. Question No. 21 to 26 are Very Short Answer Type questions of 2 m

2. Question No. 27 to 33 are Short Answer Type questions of 3 marks each.

3. Question No. 34 to 36 are Long Answer Type questions of 5 marks each.

4. Internal choice is provided in 2 questions of 2 marks,2

of 5 marks . 

SECTION I has 16 questions of 1 mark each.

1. The HCF of two numbers is 16and their product is 3072. Find their L.C.M.

The decimal representation of 

2. If x= 2/3 and x=-3 are the roots of the quadratic equation 
and ‘b’. 

3. For what value of ‘K’, the pair of linear equations 

X+2Y=5  

3X+KY=15 represent coincident lines?

4. A man has only 20 paise coins and 25 paise coins in his purse.
totalling Rs. 11.25, frame linear equations to represent this real life scenario.

5. If 2x,x+10,3x+2 are in A.P., find the value of x.

Determine the 10th term from the en

DELHI PUBLIC SCHOOL
SAIL TOWNSHIP, RANCHI 

PRE BOARD – I EXAMINATION (2020-2021) 

                                                 Subject:- Mathematics

               F.M. :- 80 

This question paper contains two parts A and B. 

Both Part A and Part B have internal choices. 

I and II. 

Section I has 16 questions of 1 mark each . Internal choice is provided in 5 questions.

Section II has 4 questions on case study . Each case study  

parts. An examinee is to attempt any 4 out of 5 sub-parts.

Question No. 21 to 26 are Very Short Answer Type questions of 2 marks each.

Question No. 27 to 33 are Short Answer Type questions of 3 marks each. 

Question No. 34 to 36 are Long Answer Type questions of 5 marks each. 

Internal choice is provided in 2 questions of 2 marks,2 questions of 3 marks and 1 question 

PART-A 

SECTION I has 16 questions of 1 mark each. Internal choice is provided in 5 questions.

The HCF of two numbers is 16and their product is 3072. Find their L.C.M.

OR 

The decimal representation of 13/3125 will terminate after how many decimal places?

3 are the roots of the quadratic equation ax2+7x+b=0,find the values of ‘a’ 

For what value of ‘K’, the pair of linear equations  

3X+KY=15 represent coincident lines? 

A man has only 20 paise coins and 25 paise coins in his purse. If he has 50 coins in all 
frame linear equations to represent this real life scenario.

find the value of x. 

OR 

term from the end of the A.P. 4,9,14,…..,254. 
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Internal choice is provided in 5 questions. 

parts. 

arks each. 

 

 

questions of 3 marks and 1 question 

Internal choice is provided in 5 questions. 

The HCF of two numbers is 16and their product is 3072. Find their L.C.M. 

13/3125 will terminate after how many decimal places? 

+7x+b=0,find the values of ‘a’ 

If he has 50 coins in all 
frame linear equations to represent this real life scenario. 



 

6. Find the values of ‘k’ for which the equation x2 + 5kx +16 =0 has no real roots. 

7. Solve the following quadratic equation by factorization method: 

√3x2 +10x +7√3 = 0. 

OR 

         If  - 5 is a root of the quadratic equation 2x2+px -15 = 0 and the quadratic  

         equation p(x2+x) +k =0 has equal roots, find the value of k . 

8. Two concentric circles are of radii 5 cm and 3 cm . Find the length of the chord of the larger 
circle which touches the smaller circle. 

9. If angle between two radii of a circle is 1300, find the angle between the tangents at the ends 
of radii. 

OR 

AB is a chord of a circle with centre O, AOC is a diameter and AT is the  

           tangent at A . Find the ratio of <ACB and <BAT. 

10.  In a given triangle ABC, DE II BC and 
��

��
 = 

�

�
 . If AC = 5.6 cm, find AE. 

11.  A pendulum swings through an angle of 300 and describes an arc 8.8 cm in length. Find the 
length of the pendulum. (Use ̟ = 22/7 ). 

12. If tan A =√2 – 1, evaluate sinA cos A . 

13. In a rectangle ABCD, AB=20 cm, <BAC = 600 . Calculate side BC. 

14. Calculate the median of first 10 prime numbers. 

15. Three metallic solid cubes whose edges are 3 cm, 4 cm and 5 cm, are melted and formed 
into a single cube. Find the surface area of cube thus formed. 

16.  If a number ‘x’ is chosen at random from the numbers -2,-1,0,1,2. 

What is the probability that x2< 2 ? 

OR 

A jar contains 24 marbles some are green and others are blue. If a marble is drawn at 
random from the jar, the probability that it is green is 2/3 . Find the number of blue 
marbles in the jar. 

SECTION – II 

Case study based questions are compulsory .Attempt any four sub-parts of each 
question. Each subpart carry 1 mark . 

 

 

Pg – 2 of 8 

 

 



 

17. Case Study Based-1( Neighbourhood Problem) 

In a city ,the houses of three friends Rajat, Shweta and Alia are located at A(7,5),B(2,3) and 
C(6,-7) respectively. 

(i) The points A , B and C form which type of triangle? 

a) Scalene triangle 

b) Equilateral triangle 

c) Right – angled triangle 

d) None of these 

(ii) The area of triangle ABC is 

a) 29 sq.units 

b) 32 sq. units 

c) 35 sq. units 

d) 49 sq.units 

(iii) Sanyam decides to take a house in the middle of the three friends. The coordinates of 
the point where he can take a house is 

a) (11/2 , -2) 

b) (13/2 , -1) 

c) (9/2 , 4) 

d) (11/2 , -1) 

(iv) The centroid of  the triangle ABC is 

a) (3, 1/3) 

b) (15/2, 3) 

c) (3, 2/3) 

d) (5, 1/3) 

(v) The perimeter of the triangle ABC is 

a) (29)1/2 + (116)1/2 + (145)1/2 

b) (39)1/2 + (126)1/2 + (135)1/2 

c) (19)1/2 + (119)1/2 + (117)1/2 

d) None of these 

18. Case Study Base -2(Class-Room Test) 

A class teacher has the following record of marks obtained by 50 students of his class. 

MARKS OBTAINED:-  0-20    20-40   40-60    60-80    80-100 

NO. OF STUDENTS:-            5           12         20          10         3 
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(i) Estimate the mean marks obtained by a student. 

a) 39.7 

b) 79.3 

c) 47.6 

d) 29.6 

          (ii)         If ‘d’ is the deviation of ‘x’ from assumed mean ‘a’ and      

                         mean=x+∑(��/�) , then x is: 

a) Number of observations 

b) Assumed mean 

c) Class-size 

d) None of these 

(iii) While computing mean of grouped data we assume the frequencies are: 

a) Evenly distributed over all the classes 

b) Centred at the lower limit of the classes 

c) Centred at the class-mark of the classes 

d) Centred at the upper limit of the classes 

(iv)What will be the upper limit of the modal class? 

a) 60 

b) 20 

c) 40 

d) 80 

(v)How many students have obtained more than 60 marks? 

a) 30 

b) 32 

c) 15 

d) 13 

 

19.  Case Study Based-3 (Scale factor and Similarity) 

Maps and Models are made on a scale. Measure the distance between any two cities 

marked in the map and compare it with the actual distance between these cities to get the 

ratio between the two distances. The scale is written as a ratio. The ratio is already 

marked(written)  on every map and is known as scale factor. 

Similar Figures: The ratio of two corresponding sides in similar figures is called the scale 

factor. 

Scale factor = Length of the image/Corresponding length of the object 

If one shape can become another using Resizing, then the shapes are similar. The other 

possibilities of similarities of two shapes are by rotation or turn, by reflection or flip or by 

translation or slide. 
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(i) A model of a duplex is made on the scale of 1:50.The length of the drawing room of 

model is 10 cm. What is the length of actual drawing room? 

a) 10m 

b) 15m 

c) 5m 

d) 7m 

 

(ii) If the breadth of actual drawing room is 4.5 m , the width of the model drawing 

room is : 

a) 9cm 

b) 18cm 

c) 4.5cm 

d) 12cm 

 

(iii) If the similar triangles have a scale factor of 1:4 , then ratio of their medians is: 

a) 1:16 

b) 4:1 

c) 1:2 

d) 1:4 

(iv) If the ratio of the corresponding sides of two similar triangles is 3:5 , then the ratio of 

their altitudes is: 

a) 9:25 

b) 3:5 

c) 9:3 

d) 25:9 

(v) The two shapes are similar when one can become the other after 

a) Resize 

b) Slide 

c) Flip  

d) All of these 

20. Case Study Based - 4 (Problem- Solving) 

Anirudh was asked by one of his friends to find the polynomial whose zeroes are  -2/√3 

and √3/4. He obtained the polynomial as shown below: 

Let α =  -2/√3 and � =  √3/4  

α + β = −
�

√�
+ √�

�
=

 ����

�√�
=  −

�

�√�
 

αβ = −
�

√�
× √�

�
=  −

�

�
 

Required polynomial = x2 – (α + β )x + αβ 

                                       = x2 – (
��

�√�
)� + (−

�

�
) 

                                       = x2 + 
��

�√�
−

�

�
 

                                       = 4√3 x2 + 7x -2√3 

 

 

 



 

His another friend Kanchan pointed out that the polynomial obtained is not correct. 

Based on the above situation, answer the following questions: 

 

(i) Is the claim of Kanchan correct? 

a) Yes 

b) No 

c) Can’t say 

d) None of these 

 

(ii) If yes , then the correct quadratic polynomial is  

a) 4√3x2 -5x +2√3 

b) 4√3 x2 + 5x - 2√3 

c) 4√3 x2 + 5x + 2√3 

d) 4√3 x2 -5x - 2√3 

 

(iii) The value of α2 + β2 is : 

a) 
��

��
 

b) 
� 

��
 

c) 
��

��
 

d) 
��

��
 

 

(iv) What is the value of the correct polynomial if x = -1? 

a) − 5 + 2√3 

b) 5 − 2√3 

c) 5 − 6√3 

d) – 5 + 6√3 

 

(v) The value of α3 – β3 is : 

a) −
�� 

� �√�
 

b) 
�� 

� �√�
 

c) 
�� √�

� �
 

d) −
�� √�

� �
 

PART-B 

All questions are compulsory. In case of internal choices ,attempt any one. 

21.  Prove that 3 + 2 √5 is irrational, if it is given that √5 is an irrational number. 

22.  In what ratio does Y-axis divide the line segment joining the points (-4,7) and (3,-7)? 

OR 

If the point P( k-1 , 2 ) is equidistant from the points A(3, k ) and B( k,5 ), find the value of k. 
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23. If α , β are the zeroes of the polynomial p(x) = x2 – (k-6)x + (2k+1). Find the value of ‘k’ if  

α +β = αβ. 

24.  Construct a circle of radius 3 cm with centre O and take a point P outside the circle such 

that OP = 8 cm .From P, draw two tangents to the circle. 

25. If tan # = 1/√7 , then prove that:- 

 ( cosec2# +sec2#)/(cosec2#– sec2#) = 4/3 

OR 

            Taking # = 300 , verify the following: 

             tan 2# = (2&'(#) / (1- tan2#) 

26.  From an external point P , tangents PA and PB are drawn to a circle with centre O. If CD is 
the tangent to the circle at point E and PA = 12 cm,find the perimeter of ∆ PCD . 

27.  The LCM of two numbers is 14 times their HCF. The sum of HCF and LCM is 600. If one 
number is 280, find the other number. 

28.  A motorboat whose speed is 18km/hr in still water takes 1 hour more to go 24 km 
upstream than to return downstream to the same spot. Find the speed of the stream. 

OR 

If the quadratic equation (1+ a2)b2x2 + 2abcx + (c2 -m2 )= 0 has equal roots , prove  that  

c2 = m2(1+a2). 

29. The area of an equilateral triangle is 1732.05 cm2. About each angular point as centre, a 
circle is described with radius equal to half the length of the side of the triangle. Find the 
area of the triangle not included in the circles.(Use ̟ = 3.14 ). 

30.  State and prove Basic Proportionality Theorem. 

OR 

In an equilateral triangle ABC , D is a point on side BC such that 

 BD = 1/3 BC. Prove that 9AD2 = 7AB2 

31.  Some surnames were picked up from a local telephone directory and the frequency 
distribution of the number of letters of the English alphabets was obtained as follows: 

Number of letters                Number of surnames 

 1- 4                                                   10 

 4 -7         25     

 7-10                                                    35 

10-13                                                    x 

 13-16                                                  12  

16-19                                                    8 

It is given that mode of the distribution is 8, then find the missing frequency ‘x’. 

32. The shadow of a tower standing on a level ground is found to be 30 m longer when the 

Sun’s altitude is 300 than when it is 600. Find the height of the tower. ( Take √3= 1.732). 
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33.  Find the missing frequencies in the following frequency distribution table, if N=100 and 
median is 32: 

Marks                        Number of students 

0-10                                        10 

10-20                                       x 

20-30                                      25 

30-40                                      30 

40-50                                       y    

50-60    10 

                                                          N=100 

          Where N= sum of all frequencies. 

34. A statue , 1.6 m tall, stands on the top of a pedestal. From a point on the ground , the angle 

of elevation of the top of the statue is 600 and from the same point the angle of elevation of 

the top of the pedestal is 450.Find the height of the pedestal. 

OR 

From a window (h m high above the ground) of a house in a street ,the angles of elevation 

and depression of the top and the foot of another house on the opposite side of the street 

are # '(� ∅ respectively. Show that the height of the opposite house is h(1+tan#+,&∅) m . 

35.  A solid iron pole consists of a cylinder of height 220 cm and base diameter 24 cm ,which is 

surmounted by another cylinder of height 60 cm and radius 8 cm . Find the mass of the pole 

,given that 1 cm3 of iron has approximately 8 g mass. ( Use ̟ = 3.14). 

36. Places A and B  are 100 km apart on a highway. One car starts from A and another from B 

at the same time. If the car travels in the same direction at different speeds , they meet in 5 

hours. If they travel towards each other, they meet in 1 hour. What are the speeds of the 

two cars? 

************* 
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                            PRE

  Class:- X    

           Time-  3 Hrs.   

General Instructions:- 

a) All Questions are compulsory.

b) Marks are indicated against each question.

 

 1.  Why does the sky of moon appear dark?             

2. Both a spherical mirror and a thin spherical lens

type of mirror and lens are these?                                     

3. The image formed by a concave mirror is observed  to be virtual,

object.    Where is the object placed? 

     Name the part of a lens through which a ray of light

4. Write the statement of Fleming’s right hand rule.

5. Draw the magnetic field lines due to a current carrying solenoid.                              

6.  Two unequal resistances are connected in series. If you are not provided with any 

other parameters (e.g. numerical values of V&R). What can be said about the current in 

these two resistors?                                

                                            

Some work is done to move a change Q from a point A to point B in space. The potential

 at A is Va and the potential at B is V

A to B in terms of Q ,Va & Vb?       
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PRE-BOARD – I  EXAMINATION (2020-21) 

                               Subject:

                 M.M- 80

All Questions are compulsory. 

Marks are indicated against each question. 

PHYSICS 

        SECTION - A 

Why does the sky of moon appear dark?                 

Both a spherical mirror and a thin spherical lens have a focal length of (+15) cm. W

mirror and lens are these?                                        

The image formed by a concave mirror is observed  to be virtual, erect and larger than the 

Where is the object placed?       

OR 

Name the part of a lens through which a ray of light passes without suffering any 

Write the statement of Fleming’s right hand rule.    

Draw the magnetic field lines due to a current carrying solenoid.                              

Two unequal resistances are connected in series. If you are not provided with any 

other parameters (e.g. numerical values of V&R). What can be said about the current in 

these two resistors?                                      

   OR 

Some work is done to move a change Q from a point A to point B in space. The potential

Va and the potential at B is Vb . What is the work done to move this charge from 

?             
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    (1) 

of (+15) cm. What  

   (1) 

erect and larger than the 

   (1) 

asses without suffering any deviation. 

   (1) 

Draw the magnetic field lines due to a current carrying solenoid.                                      (1) 

Two unequal resistances are connected in series. If you are not provided with any  

other parameters (e.g. numerical values of V&R). What can be said about the current in  

   (1) 

Some work is done to move a change Q from a point A to point B in space. The potential 

. What is the work done to move this charge from  



 7.  Read the following and answer any four questions    from 7 (i) to 7 (v)                     (1x4=4) 

The following table gives different positions of images and their sizes for different  

positions of object in case of image formed by convex lens. 

 Position of object Position of image  Relative size of  image  

At infinity  At focus F2 Highly diminished and 
point sized 

Beyond 2F1 Between F2 & 2F2 Diminished 

At 2F1 At 2F2 Same size  

Between F1&2F1 Beyond 2F2 Enlarged 

At F1 At infinity Infinitely large  

Between F1& Optical centre O On the same side of the 
lens as the object  

Enlarged  

   

 

 (i) The nature of the image , if an object is placed at  infinity is :  

(a) real and erect 

  (b) real and inverted 

(c) virtual and erect 

(d) virtual and inverted  

 (ii) If the magnification of converging lens is +1,then image formed is : 

(a) Real ,inverted and of the same size as that of the object . 

(b) Virtual ,erect and of the same size as that of  the object 

(c) Real, inverted and bigger than  the size of the object 

(d) Virtual, erect and bigger than the size of the object 

 (iii) Sanskriti determined the focal length of a device X by focusing a distant object  

on the screen as shown in the following diagram; 
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Select the correct statement from the following : 

(a) Device X is a concave mirror and distance d is its focal length 

(b) Device X is a concave mirror and distance d is its radius of curvature  

(c) Device X is a convex lens and distance d is its radius of curvature 

(d) Device X is a convex lens and distance d is its focal length . 

  (iv) The focal length of a lens for an object placed at 50 cm from the lens producing virtual  

       image at a distance of 10 cm infront of the lens will be  

(a) 12 cm 

(b) -12.5cm 

(c) 5cm 

(d) -5cm 

(v) The lower half of a convex lens is covered with black paper ( as shown in figure ) .  

     The effect on the image on the screen would be : 

 

(a) The lower half of the image disappears  

(b) The upper half of the image disappears  

(c) The image remains the same   

(d) The image becomes less brighter than before. 

8.  Read the following and answer any four questions from 8 (i) to 8 (v)                          (1x4=4) 

Two electric circuits are shown below . The batteries used in circuit 1 &  circuit 2 are identical. 

In circuit 1,the ammeter reads 1.2 A when the switch is closed . The two switches in circuit 2 

are closed . When the switches are closed in circuit 2 , ammeter 1 reads 6A and ammeter 2 

reads 3 A . 
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 (i) The reading of voltmeter in circuit 1 is  

(a) 10V 

(b) 14V 

(c) 18V 

(d) 20V  

(ii) The combined resistance of the two resistors in circuit 2 is 

(a) 20 ohm 

(b) 3.3ohm 

(c) 4ohm 

(d) 5.2ohm 

(iii) A student draws the circuit diagram as shown . The parts labelled X ,Y and Z  

       respectively  are : 

                    

(a) Ammeter , resistor , voltmeter 

(b) Ammeter , voltmeter , resistor  

(c) Voltmeter , resistor , ammeter  

(d) Voltmeter , ammeter , resistor  

(iv) A student carries out an experiment and plot the V – I graph of two samples of  

      Nichrome   wire with resistances R1 and R2 respectively as shown in figure . Which of  

      the fallowing is true? 

 

(a) R1=R2 

(b) R1>R2 

(c) R1<R2 

(d) None of these  
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(v) The resistance of an electrical component remains constant, while the potential  

difference across the two ends of the component decreases to half of its former value .  

The final current will become : 

(a) ¼ of its initial value  

(b) ½ of its initial value  

(c) Same as its initial value  

(d) Double of its initial value  

SECTION - B 

9. A narrow beam PQ of white light is passing through a glass prism ABC as shown in  

the diagram.             (2) 

 

Trace it on your answer sheet and show the path of the emergent beam as observed  

on the screen DE. 

(i) Write the name and cause of the phenomenon observed. 

(ii) Where else in nature is this phenomenon observed? 

10. (a) State Snell’s law of refraction of light.                        (2) 

(b) The refractive indices of water and glass with respect to air are 4/3 and 3/2 respectively. 

     If the speed of light in glass is 2x108m/s. Find the speed of light in water. 

SECTION - C 

11.  (a) State Joule’s law of heating ?                                   (3) 

(b) Several electric bulbs designed to be used on a 220v electric supply line are rated  

     at 10 W . How many lamps are connected in parallel with each- other across two  

     wires of 220 V line, if the maximum allowable current is 5A? 

SECTION - D 

12.  Describe an activity to show that a current carrying straight conductor experiences a force, 

when placed in a magnetic field. When is the force experienced by a current carrying 

conductor placed in magnetic field largest? State the rule to determine the direction of force 

acting on current carrying conductor in magnetic field .                                                           (5) 
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 OR  

(a) Describe  an activity to show that the current is induced  in a coil when the current  

     in another coil is changed. 

(b) State the factors on which the strength of magnetic field produced by a solenoid depends. 

(c) It is established that an electric current through a metallic conductor produces  a  

     magnetic field around it. Is there a similar magnetic field produced around a thin beam 

     of moving 

(i) alpha-particles,  

(ii) neutrons ? 

Justify your answer . 

CHEMISTRY 

 SECTION -A 

Q1.  Complete the following reaction:         (1) 

Fe +  H2O (steam)  

       OR 

  List any two observation when lead nitrate is heated in a dry test- tube. 

Q2.  Write chemical name and formula of baking soda.       (1) 

Q3.  Which of the following statements are usually correct for carbon compounds.   (1) 

a) These are good conductors of electricity. 
b) These are poor conductors of electricity. 
c) These have strong forces of attraction between their molecules. 
d) These do not have strong forces of attraction between their molecules. 

i) a & c 

ii) b & c 

iii) a & d 

iv) b & d 

  Assertion- Reason Type Questions (Q. Nos. 5 - 6) 

In each of the following questions, a statement of Assertion is given by the corresponding statement of 

Reason. Of the statements, mark the correct answer as 

a) If both Assertion and Reason are true and Reason is the correct explanation of Assertion. 

b) If both Assertion and Reason are true , but Reason is not the correct explanation  

     of Assertion. 

c) If Assertion is true, but Reason Is false. 

d) If Assertion is false, but Reason is true. 

Q.4 Assertion: A iron nail is placed in blue copper sulphate solution, after sometime the solution 
will change its colour from blue to green.                                                 (1) 

 Reason:   Copper is more reactive than iron. 
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Read the passage and answer the following questions:- 

Q5.  In the modern periodic table atomic radii of the element  increases down the group and along 
a period ,the atomic radii of the elements generally decreases from left to right. 

Generally atomic radius is expressed by covalent radius except in noble gases which do not 
form covant bonds in their atoms. In their cases Vander waals radius represent atomic radius. 

 

i) Which of the following has highest atomic radius?      (1) 

a) Li 

b) Ne 

c) Be 

d) B 

ii) Which one of the following has highest metallic character ?       (1) 

a) Li 

b) Na 

c) K 

d) Rb 

iii) Which one is most electronegative?           (1) 

a) N 

b) O 

c) F 

d) Cl 

iv) Which one of the following is correct for ionic radii ?      (1) 

a) Li >Li+ 

b) Li <Li+ 

c) Li = Li+ 

d) None of the above 

 SECTION - B 

Q6.  Draw the electron dot structure for ethyne and also draw its structural formula.  (2) 

                                                                       OR 

Carbon can form huge number of compounds -----Justify the above statement by giving two 

reasons 

Q7. When a metal  X is treated with cold water, it gives a base Y with molecular mass   

XOH (M.M =40) and liberates a gas Z which easily catches fire. Identify X,Y and Z. Write the 

reactions involved.                                 (2) 
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SECTION - C 

Q.8  

i) Which of the following reaction is not a redox reaction? 

a) ZnO + C --� Zn + CO 

b) NaOH + HCl---� NaCl +H2O 

c) Mg + O2 -----�MgO 

d) 2H2O ---�2H2  + O2 

ii) Define precipitation reaction with an example. Mention colour of the precipitate.    (1+2=3) 

Q9. 

GROUP-> 
PERIOD 
 

1 2 13 14 15 16 17 18 

2nd period A B  C   D  

3rd period  E   F    

 

i) Which of the element will form monovalent anion?                                                   (3) 

ii) Arrange elements according to the increasing order of atomic size. 

iii) Write the formula of the compound formed by B and D. 

Q10. a) Give reason for the following statement: 

i) Ionic compounds are generally solid. 

ii) Ionic compounds are generally soluble in water. 

 b) Explain formation of Na2O with the help of electron dot structure.       (2 +1=3) 

       SECTION – D 

Q.11 

a) Write chemical name and formula of caustic soda. 

b) Mention chemical reaction involved for preparation of caustic soda. 

c) Why this process is named as chlor- alkali process? 

d) In the chlor- alkali process along with caustic soda two gases X and Y are also obtained.  

X  react with dry slaked lime and produce a compound Z which is used as a disinfectant. 
Identify  X,Y and Z. 

e) Write any two uses of caustic soda.          (1x5 =5) 

                                                     OR 

i) Four solutions A,B,C and D are taken in separate test-tube and observed the 

following pH  values. 

A – 5 

B - 1 

C – 13 

D – 7 
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a) Which one is having highest concentration of H+ 

b) Write the nature of C. 

c) Mention the colour change obtained when B is poured on pH paper. 

 

ii) What is the chemical name and formula of plaster of paris? 

Mention its preparation process with the help of chemical reaction.     (3+1+1=5) 

 

BIOLOGY 

           SECTION A 

1. Ventricles have thicker muscular walls than the atria. Justify     (1)  

2. Peristaltic movements occur all along the gut. Comment     (1) 

    

     OR 

Lack of oxygen in muscles often leads to cramps among sportsmen. Comment. 

3. Why is improper disposal of waste a curse to environment?     (1) 

      OR 

The depletion of ozone layer is a cause of concern. Justify your answer. 

4. Mention the role of HCl secreted in our stomach.       (1) 

Assertion- Reason Type Questions (Q. Nos. 5 - 6) 

In each of the following questions, a statement of Assertion is given by the corresponding statement of 

Reason. Of the statements, mark the correct answer as 

a) If both Assertion and Reason are true and Reason is the correct explanation of Assertion. 

b) If both Assertion and Reason are true , but Reason is not the correct explanation  

     of Assertion. 

c) If Assertion is true, but Reason Is false. 

d) If Assertion is false, but Reason is true. 

5. Assertion: Accumulation of harmful chemicals is maximum in case of organisms at higher 

trophic level. 

Reason: Food chain normally does not go beyond 3 or 4 trophic level.     (1) 

OR 

Assertion:   Autotrophs can produce food on its own 

Reason:   Green plants can absorb 1% energy of sunlight that fall on the leaves.   

            

6. Assertion: When pure breed tall pea plants are crossed with pure breed short pea plants,  

                   all plants of F1 progeny are tall. When the pea plants of F1 progeny are  

       crossed,  short pea plants reappear in F2 progeny 

Reason: Traits are independently inherited.       (1) 

7. Read the following and answer any four questions from 7(i) to 7(v):                 (1x4=4) 

The excretory system is a passive biological system that removes excess, unnecessary materials 

from the body fluids of organisms, so as to help maintain internal chemical homeostasis and 

prevent damage to the body. 
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(i) Choose the correct path of urine in our body 

(a) Kidney - ureter - urethra - Urinary bladder 

(b) Kidney – Urinary bladder – Urethra – Ureter 

(c) Kidney – Ureter – Urinary bladder – Urethra 

(d) Urinary bladder – Kidney – Ureter – Urethra 

 

(ii) The main function of ureter is 

(a) Contain urine till it is released out 

(b) Carry urine from kidney to urinary bladder 

(c) Guard the urethra 

(d) Passage through which urine is excreted out of the body 

(iii) The structure that stores the urine before it is released is 

(a) ureter 

(b) Kidneys 

(c) Urethra 

(d) Urinary bladder 

(iv) If Henle’s loop were absent from mammalian nephron, which one of the following 

 is expected? 

(a) There will be no urine formation 

(b) There will be hardly any change in the quality and quantity of urine formed 

(c) The urine will be more concentrated? 

(d) The urine will be more dilute 

 

(v) Substances like glucose and amino acids which are absorbed in the small intestine, are 

reabsorbed in which part of excretory unit 

(a) Bowman’s capsule 

(b) Tubular part of nephron 

(c) Collecting duct 

(d) Bowman’s capsule 

SECTION B 

8. 1 ml of dilute starch solution(1% starch solution) is taken in a test tube and 1 ml of saliva is 

added to it. After keeping the mixture for an hour, few drops of iodine solution are added to 

the test tube. Is there any change in the colour of the content in the test tube? What does this 

tell you about the action of saliva on starch?         (2) 

        OR 

 What would happen if the conducting tubes of the circulatory system develop a leak? State  

 in brief, how is this avoided?           

               

9. What are the adaptations of leaf for photosynthesis? (4 points)    (2) 
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       SECTION C 

10. A pea plant with blue colour flower denoted by BB is cross bred with a pea plant with white 

flower denoted by bb 

 (a) What is the expected colour of the flowers in their F1 progeny? 

 (b) What will be the percentage of plants bearing white flowers in F2 generation,  

  when the flowers of F1 plants were self crossed? 

 (c) State the expected ratio of the genotype BB and Bb in the F2 progeny.    (3) 

 

        OR 

 “It is a matter of chance whether a couple will have a male or a female child.” Justify this 

statement by drawing a flow chart.         

11. What are the advantages of cloth bags over plastic bags during shopping  

 (Mention 3 points)           (3) 

12.  (a) The breathing cycle is rhythmic whereas exchange of gases is a continuous  

  process.” Justify. 

 (b) What is hypertension? How is it caused? What damage can it do in our body? 

            (1+1+1/2+1/2=3) 

 

       SECTION D 

13. (a) Fertilisation occurs once in a month in human female. Comment. 

 (b) Prenatal sex determination has been prohibited by law. State the necessity 

   of enforcement of this law. 

(c) Where are human testes located and why? 

 (d) Describe the structure and function of placenta.       

                  (1+1+1+2=5) 

 

 

***************** 
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                            PRE BOARD 

                Class:- X                       
                 Time:- 3 Hrs.   

General Instructions:- 

1. All Questions are compulsory. 

2. Marks are indicated against each question.

3. Questions carrying 1 mark are objective type questions. Answer them as instructed.

4. Questions carrying 3 marks are short answer type questions. Answer of these questions should not 

exceed 80 words each. 

5. Questions carrying 4 marks are source based questions.

6. Questions carrying 5 marks are long answer type questions. Answer of these questions should not 

exceed 120 words each. 

7. Map questions from History (2 marks

 

Objective Type Question: 1 mark each

Q.1.  Which one of the following countries is considered as the ‘cradle of European civilization’?

      a) England 

      b) France 

     c) Greece 

      d) Russia 

Q.2.  Match the following items given in column A with those in column B. Choose the correct answer 
from the options given below:

Column A 

A. Absolutism 

B. Suffrage 

C. elle 

D. zollverein 

(i) customs 

(ii) measures of cloth.

(iii) monarchial government that was centralised, militarised and 
repressive.

(iv) right to vote
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Marks are indicated against each question. 

are objective type questions. Answer them as instructed.

are short answer type questions. Answer of these questions should not 

are source based questions. 

are long answer type questions. Answer of these questions should not 

(2 marks) and Geography (3 marks). 

HISTORY  
 

Section A 
1 mark each 

Which one of the following countries is considered as the ‘cradle of European civilization’?

Match the following items given in column A with those in column B. Choose the correct answer 
options given below: 

Column B 

(i) customs unions. 

(ii) measures of cloth. 

(iii) monarchial government that was centralised, militarised and 
repressive. 

(iv) right to vote 
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are objective type questions. Answer them as instructed. 

are short answer type questions. Answer of these questions should not 

are long answer type questions. Answer of these questions should not 

Which one of the following countries is considered as the ‘cradle of European civilization’? 

Match the following items given in column A with those in column B. Choose the correct answer 

(iii) monarchial government that was centralised, militarised and 



Options: 

 A B C D 

a) (i) (ii) (iii) (iv) 
b) (iii) (iv) (ii) (i) 
c) (ii) (i) (iv) (iii) 
d) (iv) (iii) (i) (ii) 

Q.3.   Which one of the following Viceroys announced a vague offer of dominion status for India in  

          October 1929? 

     a) Lord Mountbatten 
     b) Lord Dalhousie 
     c) Lord Irwin 
     d) None of these 
 

SECTION - B 
 Short Answer Questions    3 marks each 

Q.4. Why did Gandhiji re-launch the ‘Civil Disobedience Movement’? Explain any three reasons. 
Q.5.  Explain any three features of the ‘Nation-State’ that emerged in Europe in the  

twentieth century.  
                                                                                               OR 

Explain the significance of portraying nations as female figure by the European artists of the 
18thand   19th centuries. 

 
SECTION - C   

Q.6.  Read the source given below and answer the questions that follows:   ( 1+1+1=1=4) 
   
 In 1848,Frederic Sorrieu, prepared a series of four prints visualizing his dream of a world 

made Up of ‘democratic and social Republics’, as he called them. The first print of the 
series, shows the peoples of Europe and America-men and women of all ages and social 
classes-marching in a long train, and offering homage to the statue of Liberty as they pass 
by it.  

  As you would recall, artists of the time of the French Revolution personified Liberty 
as a female figure-here you can recognize the torch of Enlightenment she bears in one 
hand and the Charter of the Rights of man in the other. On the earth in the foreground of 
the image lie the shattered remains of the symbols of absolutist institutions. In Sorrieu’s 
utopian vision, the peoples of the world are grouped as distinct nations, identified 
through their flags and national costume. 

 
   ( 6.1) To which country did artist Frederic  Sorrieu belong? 
        a)  Germany 
        b)  Italy 
        c)  France 
        d) None of these 
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  ( 6.2)  What do you mean by an ‘absolutist’? 
        a) A form of monarchical government 
        b) A form of democratic government 
        c) A form of dictatorial government 
        d) None of these 

  ( 6.3)  What do you mean by a ‘utopian vision’? 
        a) An ideal government 
        b) An ideal society 
        c) An ideal authority 
        d) None of these 
 
  ( 6.4) Why are people in the painting shown marching in a long train, and offering homage to statue 
            of liberty as they pass by it? 
         a)They are grouped together to achieve freedom 
         b) They are grouped together to achieve rights 
         c) They are grouped together to achieve suffrage 
         d) None of these 
 
       SECTION - D 
 Long Answer Question    5 marks 
 
Q.7. Why did Mahatma Gandhi decide to call off the Civil Disobedience Movement? Explain any five 

points . 
OR 

Who presided over Lahore Congress Session in December 1929? What were the immediate  
Outcomes of this session?                                                                                                          (1+4=5) 

 
 
          SECTION - E 
 Map Skill Based Question2 marks 

Q. 8.  Two features (A) and (B) are marked on the given outline political map of India. Identify  
            these places with the help of the following information and write their correct names on the  
          Answer sheet. 

(A) . Place associated with calling off of the Non-Cooperation Movement. 
(B).  Place associated with Indian National Congress session of September 1920 
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POLITICAL SCIENCE 
        SECTION - A 

 
Objective Type Question: 1 mark each 

Q.9.  System of ‘check and balances’ means: 
      a) Horizontal distribution of powers 
      b) Separation of powers 
      c) Put a check on the exercise of unlimited powers of the organs of government by  

   maintaining a balance of power among various institutions 
      d) Federal division of powers 

Q.10.  In which form of power sharing, power is shared at different levels of government? 

                                                                            OR 

           What does the federal division of power imply? 

Q.11.  Write one difference between the unitary system and federal system. 
                                                                                  OR 
            What is meant by ‘holding together federation’? 
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SECTION - B 
Short Answer Questions 3 marks 

Q.12.  In what ways is the Judiciary important for Indian federalism? Explain any three point. 
                                                                                          OR 

Write any three advantages of local government. 
 

SECTION - C     4 marks 

Q.13.  Read the source given below and answer the questions that follows:                       ( 1+1+1=1=4) 

Over a hundred countries of the world today claim and practice some kind of democratic 
politics: 

They have formal constitutions, they hold elections, they have parties and they guarantee 
rights of citizens. While these features are common to most of them, these democracies are 
very much different from each other in terms of their social situations, their economic 
achievements and their  

cultures. Clearly, what may be achieved or not achieved under each of these democracies will 
be very different. But is there something that we can expect from every democracy, just 
because it is democracy? 

  ( 13.1) How are most democracies different from each other? 

           a) In terms of their social system 

           b) In terms of their economic system 

           c) In terms of their cultural system 

          d) All of the above 

  ( 13.2) What is democracy? 

  a) An autocratic form of governance 

          b) A theocratic form of governance 

  c) A representative form of governance 

          d) All of the above 

  ( 13.3) What are the common features of democratic countries? 

           a) It promotes dignity and equality 

           b) Improves the quality of decision-making 

           c) Provides a method to resolve conflicts  

           d) All of the above 

  ( 13.4) What is the difference between a Democratic and Non-Democratic government. 

         a) Elected by the citizens 
          b)Elected by the subjects 
          c) Both (a) & (b) 
          d) None of the above 
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       SECTION - D 
 
 Long Answer Questions   5 marks each 
 
Q. 14.  How do state or regional parties contribute in strengthening federalism and democracy in India? 

Explain with examples. 
 

Q.15.  What does the sharing of power among political parties, pressure groups and movements ensure? 
 
 

       ECONOMICS 

           SECTION - A    

16. Study the table and answer the question below :       

Some Comparative Data on Haryana, Kerala and Bihar 
 

State Infant Mortality 
Rate per 1,000 
live births (2017) 

Literacy Rate % 
         2011 

Net Attendance Ratio (per 
100 persons) secondary stage 
(age 14 and 15 years) 2013-14 

Haryana  30 82 61 

Kerala  10 94 83 

Bihar 35 62 43 
 

Question : 
Which state has the lowest net attendance ratio at secondary stage?    [1] 
 

17. Ramesh receives his salary at the end of each month, has extra cash at the beginning  

of the month. He deposits it with the bank by opening a bank account in his name. This  

kind of deposit with the bank is known as        [1] 

A. Term deposit    

B.  Demand deposit 

C. Surplus deposit   

D. None of the above 

OR    

Sohan and Mohan are small farmers. Sohan has taken credit of Rs. 20000 at the rate of 1.5% per 
month from a trader while Mohan has taken credit at 8% per annum from bank on the same 
amount. Who is better off and why?       

A. Sohan is better because he has to do no paperwork. 

B. Mohan is better because his interest payment is less. 

C. Sohan is better because he has not paid any collateral. 

D. Both Sohan and Mohan are equal so no one is better off 
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18. A person can withdraw money by issuing a cheque. What is a cheque?              [1]   

       A. Loan taken by the bank 

        B. Loan taken by the depositor from the bank 

        C. Paper instructing the bank to pay a specific amount 

        D. None of the above 

19. Globalisation will result in               [1] 

        A. more competition among producers 

        B. less competition among producers  

    C. no change in competition among producers 
    D. none of the above 

20.  In the question given below, there are two statements marked as Assertion (A) and Reason (R). 
Read the statements and choose the correct option:      [1] 

Assertion (A): Different persons have different development goals.   

Reason (R): Our society consists of both rich and poor people. Thus, development for rich 
persons may not be the development for the poors. 

Options:             

a. Both A and R are true and R is the correct explanation of A.  

b. Both A and R are true and R is not the correct explanation of A.  
c. A is correct but R is wrong. 

d. A is wrong but R is correct. 

                              SECTION -  B 

21.    Imagine yourself to be ABC, a member of poor household. Why are most of the poor  

   households still dependent on informal sources of credit? Explain any three reasons. [3] 

22.    “Money cannot buy all the goods and services that one needs to live well”. Support the  

   statement with three suitable examples.        [3] 

         SECTION -  C  

23.  Read the text given below and answer the following questions.    [4] 

 In the past two or three decades, more and more MNCs have been looking for locations  

around the world which would be cheap for their production. Foreign investment by MNCs in  

these countries has been rising. At the same time, foreign trade between countries has been  

rising rapidly. A large part of the foreign trade is also controlled by MNCs. For instance, the  

car manufacturing plant of Ford Motors in India not only produces cars for the Indian markets,  
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it also exports cars to other developing countries and exports car components for its many factories 

around the world. Likewise, activities of most MNCs involve substantial trade in goods and also 

services.     

 Answer the following MCQs by choosing the most appropriate option 

 23.1. What was the main channel connecting countries in the past?    [1]  

   A. Technology  

   B. Foreign trade 

   C. Labour 

   D. None of the above 

 23.2. “MNCs keep in mind certain factors before setting up production”. Identify the incorrect  

   option from the choices given below                   [1] 

   A. Availability of cheap skilled and unskilled labour 

   B. Proximity of markets 

   C. Presence of a large number of local competitors 

   D. Favourable government policies 

  23.3 The past two decades of globalisation has been rapid movement in    [1] 

   A. goods, services and people between countries 

   B. goods, services and investments between countries 

   C. goods, investments and people between countries 

   D. none of the above 

  23.4. An MNC is a company that owns or controls production in                 [1] 

   A. One country  

   B. Only developing countries 

   C. More than one country 

   D. Only developed countries   

            SECTION - D  

24.  Classify the following ten economic activities under primary, secondary and tertiary activities.  [5] 
 Tailoring, teaching, flower cultivation, moneylending, Bee-keeping, working in a factory, banking, 

courier, fishing, cloth making. 
OR 

 Explain the ways by which more employment can be created in a country like India. 
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GEOGRAPHY 

    SECTION - A 
25.  Fill in the blank:               [1] 

____________ is the second most important metallurgical industry in India. 
        OR 

In India the first cement plant was set up in ___________ in 1904.  
 

26.  Choose the correctly matched pair about the Maize Crop from the following options:       [1]                    
A. Temperature – 310C to 370C 

B. Soil – Old Alluvial Soil 

C. Cropping Season  – Zaid 

D. Major Producing State – West Bengal 

27.  Fill in the blank-           [1]                     
Rice: Above 100 cm, Wheat: 50 to 75 cm, Sugarcane: ___________ 
A. 50 cm to 75 cm 

B. 100 cm to 150 cm 

C. 75 cm to 100 cm 

D. 150 cm to 200 cm 

28.  Identify the soil with the help of the following features.                                                  [1] 

   * Consists of various proportions of sand, silt and clay  

   * Contains adequate proportion of potash, phosphoric acid and lime 

   * In the drier area it is more alkaline 

 
29.   Which one of the following is a rabi crop?      [1]                                 
   A. Rice 
   B. Gram 
   C. Millets 
   D. Cotton 

SECTION -  B 

30.   Describe the three main steps involved in the complex process of resource planning.    [3] 

SECTION - C 

31.   Read the text given below and answer the following questions.     [4] 
In the 1950s China and India produced almost the same quantity of steel. Today, China is the 
largest producer of steel. China is also the world’s largest consumer of steel. In 2004, India was 
the largest exporter of steel which accounted for 2.25 per cent of the global steel trade. 
Chotanagpur plateau region has the maximum concentration of iron and steel industries. It is 
largely, because of the relative advantages this region has for the development of this industry. 
These include, low cost of iron ore, high grade raw materials in proximity, cheap labour and  
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vast growth potential in the home market. Though, India is an important iron and steel 
producing country in the world yet, we are not able to perform to our full potential largely due 
to: (a) High costs and limited availability of coking coal (b) Lower productivity of labour  
(c) Irregular supply of energy and (d) Poor infrastructure. We also import good quality steel 
from other countries. However, the overall production of steel is sufficient to meet our 
domestic demand. 

   Answer the following MCQs by choosing the most appropriate option 

31.1  Most of the public sector undertakings market their steel through ______________.    [1] 

A. HAIL  

B. SAIL 

C. TATA Steel 

D. MNCC 

31.2 Iron and steel plants are located in different states of India. Identify the plants belong to 
which state:            [1] 

Iron and Steel Plants States 

a. Durgapur 1. Tamil Nadu 

b. Bhilai 2.  West Bengal 

c. Rourkela  3.     Chhattisgarh 

d. Salem 4.       Odisha 

Choose the correct option -  

A. a-1,b-2,c-3,d-4 

B. a-4,b-1,c-2,d-3 

C. a-2,b-3,c-4,d-1 

D. a-2,b-1,c-4,d-3 
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31.3  Iron and Steel industry requires iron ore, coking coal and limestone in which of the following 
proportions?            [1] 

A. 2 : 3 : 1 

B. 4 : 2 : 1 

C. 1 : 2 : 3 

D. 2 : 3 : 4 

31.4.  Arrange the following processes for the manufacture of steel from first to last: [1] 

a. Pig iron is purified by melting and oxidising the impurities 

b. Iron ore is melted with limestone by heating with coke 

c. Rolling, pressing, casting and forging 

d. Molten materials are poured into moulds 

Choose the correct option -  

A. (d), (c), (a), (b) 

B. (a), (c), (b), (d) 

C. (b), (d), (a), (c) 

D. (c), (d), (b), (a) 
              SECTION - D 

32.  Why are efficient means of transport pre-requisites for the fast development of the country? 
Explain.             [5] 

                    OR 

Explain the importance of railways as the principal mode of transportation for freight and 
passengers in India.  

   SECTION - E 

MAP SKILL BASED QUESTION 

33.  On the given political outline map of India, locate and label any THREE of the following with 
suitable symbols:           [3] 

a. Tehri Dam 

b. Singrauli Thermal Plant 

c. Noida Software Technology Park  

d. Kandla Port 

e. Amritsar (Raja Sansi) International Airport 
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        d{kk& nlohad{kk& nlohad{kk& nlohad{kk& nloha                

        fu/kkZfjr fu/kkZfjr fu/kkZfjr fu/kkZfjr le;le;le;le;    %%%%    3 ?kaVs?kaVs?kaVs?kaVs            

lkekU; funsZ”k%lkekU; funsZ”k%lkekU; funsZ”k%lkekU; funsZ”k%    

 (i) izR;sd iz”uksa dk mÙkj nsuk vfuok;Z gSA

    (ii) ;FkklaHko izR;sd iz”uksa ds lkeus vad
 

iz'u 1- uhps nks xn~;ka'k fn, x, gSA fdlh xn~;ka'k dks /;kuiwoZd if<+, vkSj ml ij vk/kkfjr iz'uksa 

ds mÙkj ds lgh fodYi pqudj 

;g ,d loZ fofnr rF; gS fd ekuoh; xq.kksa dk vf/kdkf/kd fodkl foijhr ifjLFkfr;ksa esa gh 
gksrk gSA thou esa loZ= bl lR; ds mnkgj.k Hkjs gq, gSA d"V vkSj ihM+k vkarfjd o`fÙk;ksa ds 
ifj'kks/ku ds lkFk gh ,d ,slh vkarfjd  n`<+rk dks tUe nsrs gSa] tks 
[kjk cukrk gSaSA foifÙk;ksa ds igkM+ ls Vdjkdj mldk cy c<+rk gSA g`n; esa ,slh vn~Hkqr o`fÙk 
dk tUe gksrk gS fd ,d ckj d"Vksaa ls tw>dj og fQj mudks [ksy le>us yxrk gS
g`n; esa foifÙk;ksa dks Bksdj ekjdj viuk ekxZ cuk ys
Hkkafr gh 'kjhj dh n`<+rk 'kkjhfjd Je ds n~okjk vkrh gSA 'kkjhfjd ifjJe mlds 'kjhj dks cfy"B 
cukrk gSA foifÙk;ksa esa ri dj n`<+ gq, 'kjhj dh Hkkafr ifjJe dh vfXu esa ridj 'kjhj dk yksgk 
bLikr cu tkrk gSA ,d 'kk;j us [k
xbZ^A lR; ls ifjfpr djkus ds fy, tks dk;Z d"Vksa dk vkf/kD; fd;k djrk gS] 'kkjhfjd n`<+rk 
ds fy, ogh dk;Z Je djrk gSA nksuksa gh ,sls gFkkSM+s gSa] tks ihV
bLikrh n`<+rk dks tUe nsrs gSaA

iz”u %& 

i½ foijhr ifjfLFkfr;k¡ dkj.k gSa &

¼d½ vuqdwy ifjfLFkfr;ksa dks jksdus dh
¼x½ lkekftd pqukSfr;ksa Lohdkjus dh 

 

          fnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡ph 
                                                  izxfrizxfrizxfrizxfr    ijh{kk ijh{kk ijh{kk ijh{kk (2020-21)    

                                                                        

                        

iz”uksa dk mÙkj nsuk vfuok;Z gSA 

ds lkeus vad Øe”k% fn, gq, gSaA 

    

        xn~;ka'k & & & & I        

uhps nks xn~;ka'k fn, x, gSA fdlh xn~;ka'k dks /;kuiwoZd if<+, vkSj ml ij vk/kkfjr iz'uksa 

Ùkj ds lgh fodYi pqudj fyf[k, % 

;g ,d loZ fofnr rF; gS fd ekuoh; xq.kksa dk vf/kdkf/kd fodkl foijhr ifjLFkfr;ksa esa gh 
gksrk gSA thou esa loZ= bl lR; ds mnkgj.k Hkjs gq, gSA d"V vkSj ihM+k vkarfjd o`fÙk;ksa ds 
ifj'kks/ku ds lkFk gh ,d ,slh vkarfjd  n`<+rk dks tUe nsrs gSa] tks euq"; dks rIr Lo.kZ dh Hkkafr 
[kjk cukrk gSaSA foifÙk;ksa ds igkM+ ls Vdjkdj mldk cy c<+rk gSA g`n; esa ,slh vn~Hkqr o`fÙk 
dk tUe gksrk gS fd ,d ckj d"Vksaa ls tw>dj og fQj mudks [ksy le>us yxrk gS

ksdj ekjdj viuk ekxZ cuk ysus dh ohjrk mRiUu gks tkrh gSA eu dh 
Hkkafr gh 'kjhj dh n`<+rk 'kkjhfjd Je ds n~okjk vkrh gSA 'kkjhfjd ifjJe mlds 'kjhj dks cfy"B 
cukrk gSA foifÙk;ksa esa ri dj n`<+ gq, 'kjhj dh Hkkafr ifjJe dh vfXu esa ridj 'kjhj dk yksgk 
bLikr cu tkrk gSA ,d 'kk;j us [kwc dgk gS ^eqf'dysa bruh iM+h eq> ij fd eafty vklku gks 
xbZ^A lR; ls ifjfpr djkus ds fy, tks dk;Z d"Vksa dk vkf/kD; fd;k djrk gS] 'kkjhfjd n`<+rk 
ds fy, ogh dk;Z Je djrk gSA nksuksa gh ,sls gFkkSM+s gSa] tks ihV-ihV dj 'kjhj dks vkSj eu esas 

dks tUe nsrs gSaA 

½ foijhr ifjfLFkfr;k¡ dkj.k gSa &       

¼d½ vuqdwy ifjfLFkfr;ksa dks jksdus dh ¼[k½ leL;k lek/kku dh 
¼x½ lkekftd pqukSfr;ksa Lohdkjus dh  ¼?k½ ekuoh; xq.kksa ds fodkl dh 
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                                                        fo"k;&fgUnhfo"k;&fgUnhfo"k;&fgUnhfo"k;&fgUnh    
vf/kdre vad % 8vf/kdre vad % 8vf/kdre vad % 8vf/kdre vad % 80000    

uhps nks xn~;ka'k fn, x, gSA fdlh xn~;ka'k dks /;kuiwoZd if<+, vkSj ml ij vk/kkfjr iz'uksa  

;g ,d loZ fofnr rF; gS fd ekuoh; xq.kksa dk vf/kdkf/kd fodkl foijhr ifjLFkfr;ksa esa gh 
gksrk gSA thou esa loZ= bl lR; ds mnkgj.k Hkjs gq, gSA d"V vkSj ihM+k vkarfjd o`fÙk;ksa ds 

euq"; dks rIr Lo.kZ dh Hkkafr 
[kjk cukrk gSaSA foifÙk;ksa ds igkM+ ls Vdjkdj mldk cy c<+rk gSA g`n; esa ,slh vn~Hkqr o`fÙk 
dk tUe gksrk gS fd ,d ckj d"Vksaa ls tw>dj og fQj mudks [ksy le>us yxrk gSA mlds 

us dh ohjrk mRiUu gks tkrh gSA eu dh 
Hkkafr gh 'kjhj dh n`<+rk 'kkjhfjd Je ds n~okjk vkrh gSA 'kkjhfjd ifjJe mlds 'kjhj dks cfy"B 
cukrk gSA foifÙk;ksa esa ri dj n`<+ gq, 'kjhj dh Hkkafr ifjJe dh vfXu esa ridj 'kjhj dk yksgk 

wc dgk gS ^eqf'dysa bruh iM+h eq> ij fd eafty vklku gks 
xbZ^A lR; ls ifjfpr djkus ds fy, tks dk;Z d"Vksa dk vkf/kD; fd;k djrk gS] 'kkjhfjd n`<+rk 

ihV dj 'kjhj dks vkSj eu esas 

  ¼1½ 

 



ii½ euq"; dks lksus tSlk 'kq) cukus esa lgk;d gS &      ¼1½ 

¼d½ 'kjhj dh n`<+rk ¼[k½ eu dh n`<+rk ¼x½ vkarfjd n`<+rk ¼?k½ foifÙk;ksa ls Vdjko 

iii½ foifÙk;ksa ds chp viuk ekxZ cuk ysus dh {kerk dc mRiUu gksrh gS \   ¼1½ 

¼d½ ck/kkvksa ls cpdj ¼[k½ d"Vksa ls [ksydj  

¼x½ d"Vksa ls tw>dj  ¼?k½ lk/ku laiUu cudj 

iv½ ^yksgk bLikr cu tkrk gS^ dFku dk vk'k; gS &      ¼1½ 

¼d½ nqcZy lcy cu tkrk gS ¼[k½ cyghu cyoku cu tkrk gS 

¼x½ lcy vfr izcy cu tkrk gS ¼?k½ fueZy izcy cu tkrk gS 

v½ xn~;ka'k dk mfpr 'kh"kZd gksxk &        ¼1½ 

¼d½ eu vkSj 'kjhj  ¼[k½ ekufld ihM+k vkSj 'kkjhfjd ihM+k 

¼x½ eu vkSj 'kjhj dh n`<+rk ¼?k½ ekuo dk fodkl   

vFkok  

vgadkj ,d ,slk nqxqZ.k gS tks Øe'k% euq"; dk] ifjokj dk] lekt dk] ns'k dk vkSj varr% ekuo 
tkfr dk uk'k dj Mkyrk gSA vgadkjo'k euq"; iki deZ djrk jgrk gS vkSj blh dk izfrQy 
mls tUe&tUekarj rd Hkqxruk iM+rk gSA vgadkj ,d jk{klh izo`fÙk gSA bl izo`fÙk dh Nk;k esa 
vU; nqxq.kZ ,df=r gksdj euq"; dks iwjk jk{kl cuk nsrs gSaA gekjs /keZxzaFkksa esa jk{klksa dh ppkZ gj 
;qx esa feyrh gSA vkt Hkh jk{klh izo`fÙk;ksa okys yksx cgqrk;r esa fey tkrs gaSaA ,sls yksxksa ds ckjs 
esa rks rqylh nkl th dk jkepfjrekul esa fyf[kr dFku vkt Hkh mruk lR; gS fd jk{kl ekSdk 
feyus ij vius fgrSf"k;ksa dk Hkh vfgr djus ls ugha pwdrsA nwljksa ds vfgr esa gh ykHk fn[kkbZ 
nsrk gSA nwljksa ds mtM+us esa bUgsa g’kZ ,oa nwljksa ds mUufr es bUgsa csgn d"V dk vuqHko gksrk gSA 
;s nwljksa dh cqjkbZ djrs gSaA nwljksa ds nks"kksa dks vla[; us=ksa ls ns[krs gSA  nwljksa dk dke fcxkM+us 
ds fy, nw/k esa eD[kh dh Hkkafr fxj tkrs gSaA ;s nwljksa dk dke fcxkM+us ds fy, vius izk.k rd 
x¡ok nsrs gSaA vgadkj ds dkj.k ;s bZ'oj ij fo'okl u dj vius gh fu.kZ;ksa dks loZJs"B eku 
nwljksa ij Fkksius dk iz;kl djrs gSaA jk{klh izo`fÙk ds yksx uSfrd dks vuSfrd ekurs gSa] bl dkj.k 
vkl&ikl dk okrkoj.k udkjkRed gks tkrk gSA ,slh cqjh izo`fÙk dh c<+r ds dkj.k i`Foh us izHkq 
ds le{k fuosnu fd;k & ^^ gs Hkxoku! eq>s ioZr] o`{kksa vkfn dk Hkkj mruk eglwl ugha gksrk] 
ftruk udkjkRed ,oa nq"izo`fÙk ds yksxksa ds dkj.k gksrk gS^^A ,sls yksxksa dks vius nq"deksZa dk 
izfrQy vkusokys tUeksa esa Hkksxuk iM+rk gSA vr% euq"; dks Lok/;k; ds  
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ek/;e ls vius Hkhrj >k¡duk pkfg, ,oa ml )kjk dks iw.kZr% dl dj can dj nsuk pkfg,] tgk¡ 
ls nq"izo`fÙk;ksa ds vkus dh laHkkouk gksA bl iz;kl ls gh ekuork thfor jg ik,xh rFkk /kjrh ek¡ 
Hkh lgh vFkksZa esa clqa/kjkcu ik,xhA 

iz'u 

1- vgadkj D;k gS \           ¼1½ 

¼d½ ln~xq.k ¼[k½ nqxqZ.k ¼x½ iki deZ  ¼?k½ buesa ls dksbZ ugha 

2- dkSu vius fgrSf"k;ksa dk Hkh vfgr djus ls ugha pwdrs \     ¼1½ 

¼d½ jk{kl ¼[k½ ekuo ¼x½ ckyd  ¼?k½ nsork 

3- xn~;ka'k esa i`Foh us fdlds le{k fuosnu fd;k\      ¼1½ 

¼d½ nkuoksa ds  ¼[k½ nsork ds  ¼x½ izHkq ds ¼?k½ egkRek ds 

4- euq"; dks fdlds ek/;e ls vius Hkhrj >k¡duk pkfg,\     ¼1½ 

¼d½ fo'okl  ¼[k½ Lok/;k;  ¼x½ vgadkj ¼?k½ buesa ls dksbZ ugha 

5- euq"; vgadkjo'k D;k djrk jgrk gS \        ¼1½ 

¼d½ iki deZ  ¼[k½ fo'okl  ¼x½ mUufr ¼?k½ vfgr 

xn~;ka'k & II 

[ksy ls eu efLr"d dk fodkl gksrk gSA [ksy ds eSnku dh fe=rk vkSj HkkbZ pkjsdk tokc ughaA 
[ksy Hkkouk gesa thr dh [kq'kh vkSj gkj ds nq[k ls Åij mBkdj lejlrk dh vksj ys tkrh gSA 
;gh lejlrk O;fDr dks thou esa leqUur vkSj lQy cukrh gSA [ksy vuq'kklu] laxBu] 
ikjLifjd lg;ksx] lkgl] fo'okl] vkKkdkfjdrk] lgkuqHkwfr] lejlrk vkfn xq.kksa dk fodkl 
djds gesa ns'k dk lH; rFkk lqlaLd`r ukxfjd cukrs gSaA [ksy gekjs vanj fu.kZ; ysus dh 'kfDr 
dk fodkl djrs gSaA ,slk dkSu lk xq.k gS tks gesa [ksy ls ughsa izkIr gksrkA ^okVj yŵ  dh fot; 
dk jgL; le>krs gq, ,d vaxzst us dgk Fkk & ^^fo|kFkhZ thou esa [ksys dh Hkkouk ls izf'kf{kr 
gksdj gh ^,Vu^ ds eSnku esa vaxzstksa us usiksfy;u dks ^okVj yw^ ds ;q) esa ijkftr fd;k Fkk^^A 
vkt ds bl ;qx esa rks [ksyksa dk egRo vkSj vf/kd c<+ x;k gSA vkt cgqr cM+h vko';drk bl 
ckr dh gS fd lalkj ds fofHkUu ns'k vius&vius erHksnksa dks Hkqykdj izse vkSj 'kkafr ls jgsaA [ksy 
blesa viuh eq[; Hkwfedk fuHkkrk gSA le;&le; ij vk;ksftr ,f'k;kbZ [ksy ;k ;wjksih; [ksy ;k 
vksyafid [ksy&dwn dk bl n`f"V ls cgqr egRo gSA lHkh ns'kksa ds gtkjksa yksx vkil esa fey cSBrs 
gSaA Hkk"kk] jax] tkfr] /keZ vkfn dh ladh.kZ e;kZnk,¡ ;gk¡ vkdj VwV tkrh gSaA 
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iz'u 

¼d½ [ksy ls fodkl gksrk gS &         ¼1½ 

¼I½ 'kjhj dk ¼ii½ eu vkSj efLr"d  ¼iii½ 'kkjhfjd vaxks dk ¼iv½ cqf) dk 

¼[k½ [ksyksa ls fuEufyf[kr esa ls dkSu lk xq.k fodflr ugha gksrk \    ¼1½ 

¼I½ vuq'kklu ,oa ikjLifjd lg;ksx fl[kkrs gSaA 

¼ii½ vkKkdkjh gksuk 

¼iii½ ijLij nq'euh vkSj oSeuL; iSnk djrs gSa 

¼iv½ laxBu dh Hkkouk rFkk lejlrk ds xq.kksa dk fodkl djrs gSaA 

¼x½ vaxzstksa us ^okVj yŵ  ds ;q) esa usiksfy;u dks dSls ijkftr fd;k Fkk\   ¼1½ 

¼I½ cgqr cM+h lsuk ysdj  

¼ii½ lSfud f'k{kk ls izf'kf{kr gksdj 

¼iii½ fo|kFkhZ thou esa [ksy Hkkouk esa izf'kf{kr gksdj 

¼iv½ usiksfy;u dh detksfj;ksa dks igpkudj 

¼?k½ varjkZ"Vªh; Lrj ij [ksy izfr;ksfxrk,¡ vk;kftr gksus ls D;k ykHk gksrk gS \  ¼1½ 

¼I½ Hkk"kk] jax] tkfr] /keZ vkfn dh ladh.kZ e;kZnk,¡ VwV tkrh gS 

¼ii½ yksx ,d nwljs ds laidZ esa vkrs gSa vkSj fe= cu tkrs gSA 

¼iii½ ,d nwljs ds ns'k dks ns[kus rFkk ?kweus dk volj feyrk gSA 

¼iv½ fHkUu&fHkUu ns'kksa dh laLd`fr;ksa dk irk pyrk gSA 

¼³½ ^laxBu^ 'kCn esa lgh milxZ gS &        ¼1½ 

¼I½ l ¼ii½ le~ ¼iii½ l³~ ¼iv½ lx~ 
vFkokvFkokvFkokvFkok    

xk¡/khth us nf{k.k vfÝdk esa izoklh Hkkjrh;ksa dks ekuo&ek= dh lekurk vkSj Lora=rk ds izfr 
tkx:d cukus dk iz;Ru fd;kA blh ds lkFk mUgksaus Hkkjrh;ksa ds uSfrd i{k dks txkus vkSj 
lqlaLd`r cukus ds iz;Ru Hkh fd,A xk¡/khth us ,slk D;ksa fd;k \ blfy, fd os ekuo ekuo ds 
chp ds dkys xksjs ;k Å¡p uhp dk Hksn gh feVkuk i;kZIr ugha le>rs Fks] oju~ muds chp ,d  
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ekuoh; LokHkkfod Lusg vkSj gkfnZd lg;ksx dk laca/k Hkh LFkkfir djuk pkgrs FksA blds ckn 
tc os Hkkjr vk,] rc mUgksaus bl iz;ksx dks ,d cM+k vkSj O;kid :i fn;kA fons'kh 'kklu ds 
vU;k;& vuhfr ds fojks/k esa mUgksaus ftruk cM+k lkewfgd izfrjks/k laxfBr fd;kA mldh felky 
lalkj ds bfrgkl esa vU;= ugha feyrhA ij blesa mUgksaus lcls cM+k /;ku bl ckr dk j[kk fd 
bl izfrjks/k esa dgh Hkh dVqrk] izfr'kks/k dh Hkkouk vFkok dksbZ Hkh ,slh vuSfrd ckr u gks ftlds 
fy, fo'o eap ij Hkkjrk dk ekFkk uhpk gksA ,slk xk¡/khth us blfy, fd;k D;ksafd os ekurs Fks fd 
ca/kqRo] eS=h] ln~Hkkouk] Lusg&lkSgknZ vkfn xq.k ekuork :ih Vguh ds ,sls iq"i gSa] tks loZnk 
lqxaf/kr jgrs gSaA 

iz'u  

¼d½ vfÝdk esa izoklh Hkkjrh;ksa ds ihfM+r gksus dk D;k dkj.k Fkk \   ¼1½ 

¼I½ fu/kZurk /kfudrk ij vk/kkfjr HksnHkko 

¼ii½ jax&Hksn vkSj lkekftd Lrj ls lacaf/kr HksnHkko 

¼iii½ /kkfeZd fHkUurk ij vkfJr HksnHkko 

¼iv½ fons'kh gksus ls mRiUu eu eqVko 

¼[k½ xk¡/khth vfÝdk okfl;ksa vkSj Hkkjrh; izzokfl;ksa ds chp D;k LFkkfir djuk pkgrs Fks \ ¼1½ 

¼I½ lgt izse ,oa lg;ksx dh Hkkouk 

¼ii½ ikfjokfjd viuRo dh Hkkouk 

¼iii½ vfgalk ,oa lR; ds izfr yxko 

¼iv½ fo'o ca/kqRo dh Hkkouk 

¼x½ Hkkjr esa xk¡/khth dk fons'kh 'kklu ij izfrjks/k fdl ij vk/kkfjr Fkk \   ¼1½ 

¼I½ laxBu dh Hkkouk ij 

¼ii½ uSfrd ekU;krkvksa ij 

¼iii½ jk"Vªh;rk ds fopkjksa ij 

¼iv½ 'kkafr dh ln~Hkkouk ij 
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¼?k½ ca/kqRo] eS=h vkfn xq.kksa dh iq"iksa ds lkFk rqyuk vk/kkfjr gS \     ¼1½ 

¼I½ mudh lqanjrk ij 

¼ii½ mudh dkseyrk ij 

¼iii½ muds viuRo ij 

¼iv½ muds dkf;d izHkko ij 

¼³½ ^ekuoh;^ 'kCn esa iz;qDr izR;; D;k gS \       ¼1½ 

¼I½ bZ;  ¼ii½ b;k ¼iii½ b; ¼iv½ oh; 

 

2 fuEufyf[kr iz”uksa dks /;kuiwoZd i<+dj fodYiksa ls lgh mÙkj fy[ksa &     (1x4=4)   

 (i) ?kj ls Hkkxk gqvk yM+dk fey x;kA  (js[kkafdr inca/k gS) 

 (d) fo”ks’k.k inca/k   ([k) laKk inca/k   (x) loZuke inca/k   (?k) fØ;k inca/k  

 (ii) vkids fe=ksa esa ls dksbZ le; ij ugha igq¡pk A (js[kkafdr inca/k gS) 

(d) loZuke inca/k   ([k) fØ;k fo”ks’k.k inca/k  (x) laKk inca/k    (?k) fØ;k inca/k   

(iii) /kks[kckt jkgqy dks iqfyl us idM+ fy;k gSA (js[kkafdr inca/k gS) 

(d) fØ;k inca/k  ([k) loZuke inca/k      (x) laKk inca/k    (?k) fØ;k fo”ks’k.k inca/k   

(iv) *os ek¡ ls dgkuh lqurs jgrsa gSaA & okD; esa fØ;k inca/k gS& 

(d) os ek¡ ls    ([k) ek¡ ls dgkuh     (x) lqurs jgrsa gSa   (?k) dgkuh lqurs 

3 fuEufyf[kr iz”uksa dks /;kuiwoZd i<+dj lgh mÙkj fodYiksa esa ls pqudj fy[ksa &   (1x4=4)   

 (i) cPps vk, gSa vkSj [ksy jgs gS & okD; gS 

(d) feJ okD;    ([k) ljy okD;   (x) lkekU; okD;    (?k) la;qDr okD; 

(ii) rst o’kkZ gqbZ! unh esa ck<+ vkbZ! & bu okD;ksa ls cuk fefJr okD; gS& 

(d) unh esa ck<+ vkbZ D;ksafd rst o’kkZ gqbZA 

([k) rst o’kkZ ds dkj.k unh esa ck<+ vkbZA 

(x) rst o’kkZ gqbZ vkSj unh esa ck<+ vkbZA 

(?k) tc rst o’kkZ gqbZ rc unh esa ck<+ vkbZA 
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(iii) fn, x, okD; esa ljy okD; gS &          

 (d) vki n~okj ij cSBdj mldh izrh{kk djsaA 

([k) vki n~okj ij cSBsa vkSj mldh izrh{kk djsaA 

(x) tc vki n~okj ij cSBsa rc mldh izrh{kk djsaA 

(?k) n~okj ij vki cSBsa vkSj mldh izrh{kk djsaA 

(iv) * eSaus ,d nqcyh iryh cPph dks ns[kk* & okD; gS 

(d) ljy okD;    ([k) bPNk okD;    (x) feJ okD;    (?k) la;qDr okD; 

4 fn, x, iz”uksa ds mÙkj  fodYiksa esa ls pqudj fy[ksa &       (1x4=4)   

(i) *lR;kxzg* esa iz;qDr lekl gS & 

(d) rRiq:’k    ([k) deZ/kkj;    (x) vO;;hHkko      (?k) f}xq lekl 

(ii)  jkr vkSj fnu esa lekl gS &  

(d) n~oan~o lekl       ([k) n~foxq lekl   (x) rRiq:’k    (?k) deZ/kkj;  

(iii)  cgqozhfg lekl ds foxzg dk mnkgj.k gS & 

(d) Mkd ds fy, xkM+h       ([k) “osr gS tks dey    

(x) ihyk gS ftldk vacj vFkkZr~ Jh d`’.k     (?k) bZ”oj ls foeq[k  

(iv)  *”kfDr ds vuqlkj* dk lkekfld in gS& 

(d) ;Fkk “kfDr    ([k) “kfDr;qDr   (x) “kfDr;Fkk   (?k) “kfDrlaiUUk 

5 funsZ”kkuqlkj mÙkj fy[ksa &           (1x4=4)   

 (i) vius “k=q dh nqnZ”kk ns[kdj mldk ------------gks x;kA  (mi;qDr eqgkojs ls okD; iwjk djsa) 

(d) ?kh ds fn, tykuk    ([k) dystk BaMk gksuk    (x) ckts ctokuk    (?k) jax [ksyuk 

(ii) ;ksa gh ----------------------- ls D;k ykHk\ dqN djds fn[kkvks rks ekusaA (mi;qDr eqgkojs ls okD; iwjk djsa) 

(d) “ks[kh c?kkjus     ([k) cM+h&cM+h ckrsa djuk   (x) Madk ihVuk   (?k) gok esa mM+uk 

(iii) Hkkjrh; lSfudksa us nq”eu ds ----------------fn,A (mi;qDr eqgkojs ls okD; iwjk djsa) 

(d) NDds cuk      ([k) NDds NqM+k      (x) Vk¡x vM+kuk     (?k) vkleku esa mM+uk  

Pg – 7 of 12 

 



(iv) *nk¡rksa rys m¡xyh nckuk* eqgkojs dk vFkZ gS & 

(d) Mj tkuk     ([k) “kfeZank gksuk    (x) gSjku gksuk    (?k) d’V vuqHko djuk  

6 fn, x, in~;ka”k dks i<+dj iwNs x, iz”uksa ds mÙkj fodYiksa ls pqudj fy[ksa &    [1x4=4] 

  jgks u Hkwy ds dHkh enka/k rqPN foÙk esa] 

  lukFk tku vkidks djks u xoZ fpÙk esaA 

  vUkkFk dkSu gS ;gk¡ f=yksdukFk lkFk gS] 

  n;kyq nhuca/kq ds cM+s fo”kky gkFk gSaA 

  vrho HkkX;ghu gS v/khj Hkko tks djs] 

  ogh euq’; gS fd tks euq’; ds fy, ejsA 

(i) dfo us fdls rqPN crk;k gS\ 

 (d) /ku laifÙk dks     ([k) ;”k dks      (x) foosd dks       (?k) ek/kq;Z dks 

(ii) f=yksdukFk dk vFkZ gS &  

 (d) lalkj dk j{kd    ([k) Hkxoku      (x) rhuksa yksdksa ds Lokeh     (?k) mi;qZDr lHkh 

(iii) HkkX;ghu dkSu gS\ 

(d) tks Lo;a dks xjhc ekudj csPkSu jgrs gSa    

([k) bZ”oj ij fo”okl ugha djrs   

(x) mi;qZDr nksuksa   

(?k) dksbZ ugha 

(iv)  nwljs dh lgk;rk ds fy, viuk thou U;ksNkoj djusokyk dgykrk gSA 

 (d) ew[kZ    ([k) ikxy     (x) lnkpkjh    (?k) ijksidkjh 

7 fuEufyf[kr ifBr xn~;ka”k dks /;kuiwoZd i<+dj iz”uksa ds mÙkj lgh fodYiksa ls pqudj fy[ks &  

igys gh fnu mldh vogsyuk “kq: gks tkrhA eSnku dh og lq[kn gfj;kyh ] gok ds gYds&gYds >ksads ] 
QqVckWy dh og mNy&dwn dcM~Mh ds og nk¡o ?kkr] ckWyhCkkWy dh og rsth vkSj Qqjrh] eq>s vKkr o vfuok;Z 
:ils [khap ys tkrh gS vkSj ogk¡ tkrs gh eSa *lc dqN* Hkwy tkrkA og tkuysok Vkbe &Vscy] og vk¡[k QksM+ 
iqLrdssa ] fdlh dh ;kn u jgrh  vkSj lkgc dks ulhgr vkSj Qthgr dk volj fey tkrk gSA eSa muds lk;s 
ls Hkkxrk mudh vk¡[kksa ls nwj jgus dh ps’Vk djrk] dejs esa bl izdkj ncs ik¡o vkrk fd mUgsa [kcj u gksA 
mudh utj esjh vksj mBh vkSj esjs izk.k fudysA ges”kk flj ij ,d uaxh ryokj &lh yVdrh ekywe gksrhA 
fQj Hkh tSls ekSr vkSj foifÙk ds chp Hkh vkneh ek;k vkSj eksg ds ca/ku esa tdM+k jgrk gS] eSa QVdkj vkSj 
/kqM+fd;k¡ [kkdj Hkh [ksy&dqn dk frjLdkj u dj ldrk FkkA 
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iz”u&             [1x5=5] 

 (i) HkkbZ lkgc dks ulhgr vkSj Qthgr dk volj D;ksa fey tkrk\  

  (d) NksVs HkkbZ dk mudh ckr u ekuus ds dkj.k  

  ([k) NksVs HkkbZ dk Vkbe Vscy ds vuqlkj dke djus ds dkj.k 

  (x) NksVs HkkbZ dk viuh d{kk esa yxkrkj vlQy gksus ds dkj.k 

(?k) mi;ZqDr lHkh 

(ii) NksVk HkkbZ D;ksa cM+s HkkbZ lkgc ds lk;s ls nwj Hkkxus rFkk mudh vk¡[kksa ls nwj jgus dh ps’Vk djrk\ 

(d) mudh dke crkus dh vknr ls cpus ds fy, 

([k) mudh ulhgr vkSj Qthgr ls cpus ds fy, 

(x) rkfd mudks mlds [ksy dwn esa Hkkx ysus dk irk u py lds  

(?k) buesa ls dksbZ ugha 

(iii) *ges”kk flj ij ,d uaxh ryokj yVdrh jgrh FkhA bldk vk”k; gSA 

(d) ys[kd dks lnk cM+s HkkbZ dh fuxjkuh rFkk Mk¡V QVdkj dk Mj cuk jgrk 

([k) ys[kd dks vius HkkbZ lkgc dh lykg rFkk muds n~okjk fd, tkus okys vieku dk [krjk cuk 
jgrk A 

(x) d vkSj [k nksuksa 

(?k) buesa ls dksbZ ugha 

(iv) ys[kd QVdkj vkSj /kqM+fd;k¡ [kkdj Hkh [ksydqn dk frjLdkj D;ksa ugha dj ldrk Fkk\ 

 (d) [ksydwn esa lqugjk Hkfo’; ds dkj.k  

 ([k) [ksy ls feyus okys vkuan rFkk mlesa vklfDr ds dkj.k 

(x) QVdkj rFkk /kqM+fd;ksa dk vlj lekIr gks tkus ds dkj.k 

(?k) HkkbZ lkgc dh QVdkj rFkk /kqM+fd;ksa dks egRo u nsus ds dkj.k 
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   (v) vkneh ekSr vkSj foifr ds chp Hkh eksg vkSj ek;k ds ca/ku esa D;ksa tdM+ jgrk gS\ 

 (d) eksg vkSj foifÙk ls vR;f/kd yxko ds dkj.k 

 ([k) ekSr vkSj foifÙk ls eqDr u gksus ds dkj.k 

   (x) eksg vkSj ek;k ls eqDr u gksus ds dkj.k 

(?k) mi;qZDr es ls dksbZ ugha 

8 fuEufyf[kr ifBr xn~;ka”k dks /;kuiwoZd i<+dj iz”uksa ds mÙkj lgh fodYiksa ls pqudj fy[ks &   

nqfu;k dSls ctwn esa vkbZ\ igys D;k Fkh\ fdl fcanq ls bldh ek=k “kq: gqbZ\ bu iz”uksa ds mÙkj foKku viuh 
rjg ls nsrk gS] /kkfeZd xzaFk viuh &viuh rjg ls A lalkj dh jpuk Hkys gh dSls gqbZ gks ysfdu /kjrh fdlh 
,d dh ugha gSA iaNh] ekuo] i”kq] unh] ioZr ] leanj vkfn dh blesa cjkcj dh fgLlsnkjh gSA ;g vkSj ckr gS 
fd bl fgLlsnkjh esa ekuo tkfr us viuh cqf) ls cM+h&cM+h nhokjsa [kM+h dj nh gSaA igys iwjk lalkj ,d 
ifjokj ds leku Fkk] vc VqdM+ksa esa c¡Vdj ,d&nwljs ls nwj gks pqdk gSA igys cM+s&cM+s nkykuksa & vk¡xuksa esa 
lc feydj tqydj jgrs FksA vc NksVs&NksVs fMCcs tSls ?kjksa esa thou fleVus yxk gSA c<+rh gqbZ vkcknh us 
leanj dks ihNs ljdkuk “kq: dj fn;k gS] isM+ksa dks jkLrksa ls gVkuk “k: dj fn;k gS] QSyrs gq, iznq’k.k us 
iafN;ksa dks cfLr;ksa ls Hkxkuk “kq: dj fn;k gSA ck:nksa dh fouk”k yhykvksa us okrkoj.k dks lrkuk “kq: dk 
fn;k A vc xjeh esa T;knk xehZ] csoDr dh cjlkrsa] tytys] lSykc] rqQku vkSj fur u, jksx] ekuo vkSj 
izd`fr ds blh vlarqyu dk ifj.kke gSA uspj dh lgu”khyrk dh ,d lhek gksrh gSA 

iz”u &            (1x5=5) 

 (i) ys[kd fdu ckrksa esa iM+uk ugha pkgrk\ 

(d) nqfu;k foKku us cukbZ   ([k) nqfu;k /kkfeZd yksxksa us cukbZ 

(x) nqfu;k dSls ctwn esa vkbZ (?k) nqfu;k dh jpuk vYykg us dh 

(ii) bl lalkj esa fdlus cM+h &cM+h nhokjsa [kM+h dj nha\ 

(d) i”kqvksa us    ([k) izd`fr us   (x) ekuo cqf) us (?k)  bu lHkh us  

(iii) orZeku ;qx esa ?kj dh cukoV dSlh gks xbZ gS\ 

(d) goknkj     ([k) NksVs &NksVs fMCcksa tSlh  (x) cM+s & cMs nkyku tSlh  (?k) mi;qZDr lHkh 

(iv) izd`fr ds vlarqyu ds ifj.kke D;k gq,\ 

(d) tytys vkus yxs   ([k) csoDr cjlkr gksus yxh   

(x) fur u, jksx gksus yxs    (?k) fn, x, lHkh fodYi lgh gSA 

(v) leqnz ds fleVus dk dkj.k gS & 

(d) euq’; dh cqf)    ([k) c<+rh vkcknh   (x) ikuh dk de gksuk   (?k) buesa ls dksbZ ugha 
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9 fuEufyf[kr esa ls fdUgha nks iz”uksa ds mÙkj fy[ksa &        [2x2=4] 

 (i) *dkjrwl* ikB ds vuqlkj cthj vyh ,d tk¡ckt flikgh dSls Fkk\ 

 (ii) rrk¡jk dh ryokj ,d jgL; D;ksa Fkh\ 

 (iii) *euq’;rk* dfork ds ek/;e ls dfo D;k lans”k nsuk pkgrk gSa\ 

10 *vc dgk¡ nwljksa ds nq[k ls nq[kh gksus okys* ikB esa lekt dh fdl folaxfr dks mHkkjk x;k gS\  [4] 

11 fuEufyf[kr esa ls fdUgha nks iz”uksa ds mÙkj fy[ksa &       [3x2=6] 

 (i) jkenqykjh dh ekj ls Vksih “kqDyk ij D;k izHkko iM+k\ *Vksih “kqDyk ikB* ds vk/kkj ij fy[ksa 

 (ii) ufugky tkdj ys[kd dks D;k lq[k feyrk Fkk\ * liuksa ds ls fnu* ikB ds vk/kkj ij fy[ksaA 

(iii) vui<+ gksrs gq, Hkh gfjgj dkdk nqfu;k dh csgrj le> dSls j[krs gSa\ 

12 fuEufyf[kr esa ls fdlh ,d fo’k; ij 80 & 100 “kCnksa dk vuqPNsn fy[ksaA      [6] 

d  ;qokvksa esa HkVdko 

• HkVdko ds dkj.k 

• fuokj.k 

• fu’d’kZ 

[k  lkfgR; vkSj lekt 

• lekt dk lkfgR; ij izHkko 

• lkfgR; dk egRo 

• lekt vkSj lkfgR; dk laca/k 

x le; dk lnqi;ksx 

• lgh mi;ksx D;ksa vko”;d 

• lnqi;ksx dSls djsa 

• nq:i;ksx ds [krjs 
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13 vius eqgYys esa QSyh xanxh dh vksj /;ku vkdf’kZr djkrs gq, fnYyh uxj fuxe ds LokLF; vf/kdkjh dks i= 

fy[ksaA              [5] 

vFkok 

LokLF; foHkkx ds ykijokg joS;s ds dkj.k [kkn~;&inkFkZ esa feykoV dh leL;k xaHkhj gksrh tk jgh gSA foHkkx 
ds funs”kd ds uke i= fy[kdj bl leL;k dh vksj mudk /;ku vkdf’kZr djsaA 

14 ,d fuf”pr le; ij lkbfdy fjD”kksa ds vkokxeu ij izfrca/k yxkrs gq, ;krk;kr iqfyl n~okjk 40&50 

“kCnksa esa lwpuk fy[ksaA             [5] 

vFkok vFkok vFkok vFkok     

xzh’ekodk”k esa cky Hkou n~okjk vk;ksftr cky fp=dyk dk;Z”kkyk dh lwpuk 40&50 “kCnksa esa fy[ksa 

15 *dud QuhZpj* gsrq 25&50 “kCnksa esa foKkiu rS;kj djsaA        [5] 

vFkok vFkok vFkok vFkok     

 *jkf/kdk u`R; laLFkku* gsrq 25&50 “kCnksa esa foKkiu rS;kj djsaA   

16 fn, x, izLFkku fcUnvksa ds vk/kkj ij 100&120 “kCnksa dh ,d y?kq dFkk fy[ksaA    [5] 

rhu fe=ksa vUos’k] lkFkZd vkSj jes”k us ,d lkFk feydj jfookj dks fidfud ij tkus dh ;kstuk cukbZ 
lkjh rS;kfj;k¡ iwjh dj rhuksa fe= mRlkfgr gksdj fidfud ds fy, fudysA rhuksa fe= mYykl vkSj meax ls 
xkrs&ctkrs taxy ds e/; cus jkLrs ij c<+rs tk jgs FksA rHkh vpkud mudh xkM+h ds vkxs ,d ck?k vk x;kA 
vkxs ----------------------------- 

 

******************* 
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        d{kk& nlohad{kk& nlohad{kk& nlohad{kk& nloha                

        fu/kkZfjr fu/kkZfjr fu/kkZfjr fu/kkZfjr le;le;le;le;    %%%%    3 ?kaVs?kaVs?kaVs?kaVs            

  

 v Hkkx%  vuqiz;qDr O;kdj.k
   ifBr vocks/kue~
 vk Hkkx%  vifBr vocks/kue~
   jpukRed&dk;Ze~ 

ifBr vocks/kue~ 
 

1 v/kksfyf[kr &okD;s’kq js[kkafdrinkfu vk/k`R; mfpra lfU/ka lfU/kPNsna ok fpRok fy[kr &    

 (i) lk ckfydk u`R;dyk;ka ikj³~xrk 

   d) ikje~ $ xrk       [k

 (ii) ;fnPNfl rnqP;rke~A 

  d) rnq $ mP;rke    [k

 (iii)  iq:’k%$xPNfr  Lo vky;e~ 

  d) iq:’k xPNfr  [k) iq:’kks xPNfr 

 (iv)  “kq’do`{kk% $ p dnkpu~ u uefUrA

  d) “kq’do`{kk”p  [k) “kq’do`{kk p 

2 v/kksfyf[kr &okD;s’kq js[kkafdrinkuka lekla foxzga p iznÙkfodYisH;% fp

 (i) ukfLr m|ele% cU/kq%A 

  d) m/kek; le% [k) m/kee~ le%

 (ii) l% bPNke~ vufrØE; Qykfu [kknfrA

  d) ;FksPNk   [k) ;FksPNe~  

                  fnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡phfnYyh ifCyd Ldwy] jk¡ph 
                                                 vHvHvHvH;kl;kl;kl;kl    ijh{kk ijh{kk ijh{kk ijh{kk (2020-21)    

                                                                        

                        

vuqiz;qDr O;kdj.k  25 vadk% 
ifBr vocks/kue~   15 vadk% 
vifBr vocks/kue~  10 vadk% 
jpukRed&dk;Ze~   15 vadk% 
ifBr vocks/kue~   15 vadk% 

v Hkkx%  40 vadk%v Hkkx%  40 vadk%v Hkkx%  40 vadk%v Hkkx%  40 vadk%    

v/kksfyf[kr &okD;s’kq js[kkafdrinkfu vk/k`R; mfpra lfU/ka lfU/kPNsna ok fpRok fy[kr &    

ikj³~xrk vfLrA 

[k) ikj³~$xrk     x) ikje~ $ v³xrk      ?k

[k) rn~ $ nqP;rke     x) rr~ $ mP;rke 

Lo vky;e~  

iq:’kks xPNfr   x) iq:’ke~ xPNfr 

dnkpu~ u uefUrA 

“kq’do`{kk p   x) “kq’do`{kkLp    

v/kksfyf[kr &okD;s’kq js[kkafdrinkuka lekla foxzga p iznÙkfodYisH;% fpRok &    

m/kee~ le% x) m/kekr~ le% ?k) mn~;

Qykfu [kknfrA 

;FksPNe~    x) ;FksPN  ?k) ;Fkkb
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                                                        fo"k;&laLd`re~fo"k;&laLd`re~fo"k;&laLd`re~fo"k;&laLd`re~    
vf/kdre vad % 8vf/kdre vad % 8vf/kdre vad % 8vf/kdre vad % 80000    

v/kksfyf[kr &okD;s’kq js[kkafdrinkfu vk/k`R; mfpra lfU/ka lfU/kPNsna ok fpRok fy[kr &    [1x4=4] 

ikje~ $ v³xrk      ?k) ikje~ $ vaxrk 

 ?k) rnqp~$rke~ 

  ?k) iq:’ka xPNfr 

?k) “kq’d%$o`{kk”p 

Rok &      [1x4=4] 

mn~;esu le% 

kbPNke~ 



(iii) ous i”ko% p if{k.kk% p fuolfUrA 

d) i”kqi{kh    [k) i”ko% if{k.kk%   x) i”kqif{k.k%     ?k) if{ki”kok%  

(iv) vge~ iq=s vkReosnuke~ vuqHkokfeA 

d) vkReue~ osnuke~   [k) vkReu% osnuk rke~  

x) vkReuL; osnuke~  ?k) vkRek osnuke~ 

3. js[kkafdrinkuka izd`fr &izR;kS la;ksT; foHkT; ok mfpra mÙkja fodYisH;% fpRok fy[kr  [1x4=4] 

 (i) fLFkj$Ro yk?koa e`tkA 

 d) fLFkjRoe~  [k) fLFkjrk  x) fLFkjRo  ?k) fLFkjk 

(ii) f”k{kd $ Vki~ d{kk;ke~ ikB;fUrA 

d) f”kf{kdk    [k) f”kf{kdk%   x) f”kf{kdkfHk%  ?k) f”kf{kdke~ 

 (iii) vLekda lSfudk% “kfDreUr% lfUrA 

 d) “kfDr $ erqi~   [k) “kfDr $ Drqi~   x) “kfDr $ Vki~   ?k) “kfDr$eUr% 

 (iv) ,dnk jktk /kS;Z $erqi~ vi`PNr~A 

 d) /kS;Zoku~    [k) /kS;Zeku~   x) /kS;ZeUre~   ?k) /kS;ZoUre~ 

4. nÙks’kq ins’kq mfprkfu inkfu fpRok fjDrLFkkuiwfÙkZ okP;ifjorZu ek/;esu fØ;rke~A   [1x3=3] 

 (i) vtqZusu ------------------------------ gU;UrsA 

 d) “k=q%  [k) “k=qe~     x) “k=wu~   ?k) “k=o% 

5. le;kuqlkja leqfpre~ mÙkja fodYisH;% fpRok fy[krA        [1x4=4] 

 (i)  ckyd% (2:00) – fo|ky;kr~ x`ge~ vkxPNfrA 

 d) ,doknus  [k) f}oknus  x) f=oknus  ?k) pRokjoknus 

 (ii)  l% (3:30) – oknus Hkkstua djksfrA 

d) f=   [k) lk/kZf=     x) liknfÙk    ?k) iknksufÙk 
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(iii)  fon~;ky;s (7:45) – oknfookn izfr;ksfxrk Hkfo’;frA 

d) lIroknus       [k) iknksulIroknus    x) iknksu v’Voknus    ?k)  lk/kZv’Voknus 

(iv)  )  fon~;ky;s (12:45) – iqjLdkjforj.ka Hkfo’;frA 

d) }kn”k      [k) lk/kZ}kn”koknus   x) likn}kn”koknus     ?k)  iknksu ,doknus 

6 v/kksfyf[krokD;s’kq fjDrLFkkukfu eatw’kkiznrS% mfprS% vO;;inS iwj;r &   [½x6=3] 

 (i)  jek ------------v”kksduxja xfe’;frA 

 (ii)  ------------o`f’V% HkofrA 

(iii)  jes”k% -------------x`ga xroku~A 

(iv)  ckyd% iqLrda ys[kuha ------------------- Øh.kfrA 

(v)  cfg% vU/kdkj% -------------------xeua u mfpre~A 

(vi)  Roe~ -------------- lekxrkssfl 

    eatw’kk %&  

 

 

7 v/kksfyf[krokD;s’kq js[kkafdrine~ v”kqn~/ke~ vfLr “kqn~/ka ina fodYisH;% fpRok fy[krA   [1x3=3] 

(i)  Roa dnk ukVda nf”kZ’;frA 

d) i”;fUr      [k) i”;ko%    x) nz{;fl   ?k) i”;Fk 

 (ii)  vLeku~ ØhMk jksprsA 

d) o;e~       [k) eke~      x) vLekda    ?k) vLeH;e~ 

(iii)  i=okgd% vkxr% i=kf.k forjfUrA 

 d) vxre~      [k) vkxrkfu    x) vkxr     ?k) vkxrkuke~ 
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8 js[kkafdrinkfu vk/k`R;a iznÙkfodyisH;% mfpra ina fpRok iz”ufuekZ.ka dq:r      [1x5=5] 

(i)  nhus iq=s rq ekrk d`iknZzân;k Hkosr~A 

d) dklq   [k) dhn`”kh       x) d;k   ?k) dk 

 (ii)  e;qjL; fiPNkuka lkSU;Ze~ viwoZe~ vfLrA 

d) dke~    [k) ds’kke~      x) dklke~  ?k) dku~ 

(iii)  euq’;% vkReku%  Js;%  bPNfrA 

d) d%     [k) dk         x) fde~       ?k) dL; 

(iv)  vkjf{kf.k  futi{ka  izLrqrofr vk”p;Ze~?kVrA 

d) dkfu  [k) ds       x) dL;      ?k) dfLeu~ 

(v)   iztk vd.kZ/kkjk ty/kkS ukSf[k foIyosr~ 

d) dq=    [k) dkS    x) fdeFkZa  ?k) dFke~ 

9 js[kkafdr inkfu vk/k`R; iznku fodYisH;% i;kZ;ina fy[kr &      [1x4=4] 

 (i)  ;q;a  losZ ,o esa lUrfr%A dFka feFk% dyga  dqoZfUrA 

 d) vlR;e~    [k) ijLije~    x) feF;k    ?k) lnSo  

 (ii)  fu”kkU/kdkjs izl`rs fotus izns”ks in;k=k u “kqHkogkA 

d) ,dkUrs   [k) xgus  x) futZus  ?k) nwjs  

(iii)  l foods bfr bZfjr%A 

d) dfFkr%     [k) ur%    x) n`’V%    ?k) ekfur% 

(iv)  ok;q% oD=a izin~;frA 

d) ân;e~     [k) eq[ke~   x) y{k.ka   ?k) “kjhje~ 
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10 iznÙkfodYisH;% ;FkkfunsZ”ke~ mÙkjr          [1x6=6] 

(i)  es/;kes/;Hk{kda Roke~ dFke~ oujkta eU;kegs o;e~\ 

   v= *Roke* bfr ine~ dLeS iz;qDre~ 

    d) cdk;      [k) dkdk;  x) fidk;   ?k) galk; 

(ii)  r=ksisR; dk’BiVys fufgra iVkPNkfnra nsga mHkkS LdU/ksu ogUrkS U;k;kf/kdj.ka izfr izfLFkrkSA 

 v= *izfLFkrkS* bfr fØ;kinL; dr`Zina fda iz;qDre~\ 

   d) mHkkS    [k) LdU/ksu  x) ogUrkS   ?k) dk’BiVys  

(iii)  firksL; fda riLrsis bR;qfDrLrRd`rKrk  

 vfLeu~ “yksdka”ks *firk* bfr dr`ZinL; fØ;kine~ fde~\ 

d) ri%   [k) bR;qfDr%   x) rsis   ?k) d`rKrk  

 (iv)  R;Drok /keZiznka okpa i:’kka ;kssH;qnhj;sr~ v= *i:’kke~* ;kssH;qnhj;sr~ v= *i:’kke~* bfr  

     inL; foykseina fde~\ 

d) dBksjke~   [k) dkseyke~   x) /keZiznke~   ?k) okpa  

 (v)  i;kZ;oj.ks ok;qe.Mya Hk`”ka nwf’kre~ bR;fLeu~ okD;s fo”ks’;ine~ fde~\ 

  d) ok;qe.Mye~   [k) i;kZoj.ks   x) nwf’kre~     ?k) e`”ka 

(vi)  “kr”kdVh;kua /kwea eqapfr] /okua forjUrh ik’i;kuekyk la/kkofrA 

 v= fo”ks’k.kina fde~ iz;qDre~\ 

d) /kwea     [k) /okua     x) forjUrh  ?k) “kr”kdVh;kue~ 

vvvv    Hkkx%  Hkkx%  Hkkx%  Hkkx%  44440 vadk%0 vadk%0 vadk%0 vadk%        

11 v/kksfyf[kre~ vuqPNsna ifBRok iznÙkiz”ukuke~ mÙkjkf.k laLd`rsu fy[kr 

vk/kqfuds vkSn~;ksfxds ;qxs iznw’k.kL; leL;k izfrfnua o/kZrs ,oA dq=kfi LoPN% ok;q% u izkI;rs] u 
LoPNa tya yH;rs u p LoPNkfu [kkn~;oLrwfu izkI;UrsA v|Ros ;a=ky;kuka ;ukuka p ?kwesu laiw.kZo;qe.Mya nwf’kra 
latkre~ nwf’kr% ok;q% ,o “oklsu ân;s izfo”kfrA vr% fofo/kk% “okljksxk% ân;jksxk%] peZjksxk% us=jksxk% p tuku~  
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ihM;fUrA ok;qiznw’k.kL; izeq[kra dkj.ke~ vkSn~;ksfxd fodkl% vfLrA o`{kk.kka fouk”ka d`Rok tuk% vkSn~;ksfxda {ks=k.kka 
fodkla dqoZfUrA fdUrq rs izd`frnsohefi lEihM;fUrA foKkuL; izxR;k fuR;a uwru;a=k.kkefi vkfo’dkj% HkofrA vr% 
vLekfHk% loSZ% fefyRok iznw’k.kleL;k;k% lek/kkua drZO;e~A 

I.  ,dinsu mÙkjr            [1x2=2] 

(i)  nwf’kr% ok;q% dFka ân;s izfo”kfr\ 

(ii)  tuk% ds’kka fouk”ka d`Rok vkSn~;ksfxd{ks=k.kka fodkla dqoZfUr\ 

II.  iw.kZokD;s.k mÙkjr           

(i)  ok;qiznw’k.ksu ds ds jksxk% HkofUr\          [2] 

(ii)  tuk% dsuizdkjs.k izd`frnsoha lEihM;fUr\        [2] 

(iii)  vL; vuqPNsnL; leqfpra “kh’kZda fy[krA         [1]  

III.  ;FkkfunsZ”ke~ mÙkjr               [1x3=3] 

(i)  *izkI;Urs*bfr fØ;kinL; fde~\ 

(ii)  *efyue~* vL; inL; fda foi;Z;a x|ka”ks iz;qDre~\ 

(iii)  *rs* bfr loZukeina dLeS iz;qDre~\ 

12 firja izfr fyf[kra i=a eatw’kkinlgk;r;k iwjf;Rok iqu% fy[kr        [½x10=5] 

         ijh{kkHkoue~ 

         frfFk 

  iwT;% (i)  ------------ 

 lknja iz.kkek% 

 v= dq”kya r=kLrq Hkoku~A bna KkRok izlUu% Hkfo’;fl ;r~ vga (ii)  ------------mÙkh.kZ% vHkoe~A 

 (iii)  ------------izFkeLFkkukua izkIroku~ ,rRd`rs (iv)  ----------- Nk=o`fÙk% nkj;rs ija laLd`rHkk’kk;ke~ vga  

 (v)  ------------vadk%  (vi)  ------------A vfxzes o’ksZ vga (vii)  ------------d`Rok “krizf”kra (viii)  ------------izkIL;kfeA 

 iwT;ekr`pj.k;ks% ee (ix)  ------------A 
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         (x)  ------------vkKkdkjh iq=% 

         lq”khy% 

 eatw’kk 

  

 

13 

 

vFkok vFkok vFkok vFkok     
 eatw’kkiznÙk”kCnkuka lgk;~;su *O;k;keL; egÙoe~ bfr fo’k;e~ vf/kd`R; laLd`rsu iapokD;kfu fy[kr  
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U;wuk%] iz.kkek% ifjJee~ ] fir`pj.kk% yC/koku~] eg~;e~] xf.krfo’k;s] ijh{kk;ka 
vadku~] Hkor% 

Hkze.ke~] JkUrdj.ke~] o/kZrs] izk.kk;kesu ikpu”kfDr% fuR;a] Hkofr] LokLF;dj% 
jDrlapkj%] mRFkk;] izkr%] efLr’de~ 



 

14 v/kksfyf[krkfu okD;kfu laLd`rHkk’kk;k vuqn~; fy[krA       [1x5=5] 

(i)  esjs nks HkkbZ dy vk,¡xsA 

(ii)  rqe mldh ckr er lquksA 

(iii)  dfo;ksa esa dkfynkl Js’B gSA 

(iv)  vki dgk¡ ls vk;h\ 

(v)  geyksx fe=ksa ds lkFk [ksyrs gSaA 

15 v/kksfyf[kra x|ka”ka ifBRok iznÙkiz”ukuke~ mÙkjkf.k fy[kr 

vfxzes fnus lk vkj{kh pkS;kZfHk;ksxs ra U;k;ky;a uhroku~A U;k;k/kh”kks oafdepUnz% mHkkH;ka i`Fkd&i`Fkd 
fooj.ka Jqroku~A loZa o`Ùkeo;R; l ra funksZ’ke~ veU;r vkjf{k.ka p nks’kHkktue~A fdUrq izek.kkHkkokr~ 

l fu.ksZrqa uk”kDuksr~A rrksslkS rkS vfxzes fnus miLFkkrqe~ vkfn’Voku~A vU;sn~;q% rkS U;k;ky;s Lo&Lo 
i{ka iqu% LFkkfiroUrkSA rnSo dfj”pr~ r=R;% deZpkjh lekxR; U;osn;~ ;r~ br% Øks”k};kUrjkys 
df”pTtu% dsukfi gr% A rL; e`r”kjhja jktekxZa fud’kk orZrsA vkfn”;rke~ fda dj.kh;fefrA 
U;k;k/kh”k% vkjf{k.ke~ vfHk;qDra p ra “koa U;k;ky;s vkusrqekfn’Voku~A 

I.  ,dinsu mÙkjr           [½x2=1] 

(i)  U;k;k/kh”kL; fda uke vklhr~\ 

(ii)  “koa U;k;ky;s vkusrqe~ d% U;osn;r~\ 

II.  iw.kZokD;su mÙkjr          [1x2=2] 

(i)  deZpkjh lekxR; fda U;osn;r~\ 

(ii)  U;k;k/kh”k% da funksZ’ka da p nks’kHkktuue~ veU;r~\ 

16 v/kksfyf[kra “yksda ifBRok iznÙkiz”ukuke~ mÙkjkf.kfyf[kr 

 okD;rq /kS;Zoku~ eU=h lHkk;keI;dkrj%A 

 l dsukfi izdkjs.k ijSuZ ifjHkw;rsAA 

I.  ,dinsu mÙkjr          [½x2=1] 

(i)  efU=.k% dfr xq.kk% HkofUr\ 

(ii)  okDiVq% eU=h dS% u ifjHkw;rs\ 
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II.  iw.kZokD;su mÙkjr         [1x2=2] 

(i)  Js’B% eU=h dhn`”kks Hkofr\ 

(ii)  ea=h dq= vdkrj% Hkosr~\ 

17 v/kksfyf[kra ukV~;k”ka ifBRok iz”uuke~ mÙkjkf.k laLd`rsu fy[kr 

 e;wj% & dks u tkukfr ro /;kukoLFkke~A*fLFkrizKa bfr O;ktsu ojdku~ ehuku~ 

  Nysu vf/kx`g~; Øwjr;k Hk{k;flA f/kd~ Roke~ ro dkj.kkr~ rq loZa if{kdqyesokoekfura  

  tkre~A  

okuj%& (lxoZe~)  vr,o dFk;kfe ;r~ vgeso ;ksX;% oujktink;A “kh?kzeso ee  

jkT;fHk’ksdk; rRijk% HkoUrq losZ oU;thok%A 

e;wj%& vjs okujA rw’.kha HkoA dFka Roa ;ksX;% oujktink;\ 

i”;rq  ee f”kjfl jkteqdqVfeo f”k[kka LFkki;rk fo=k/kk ,okga if{kjkt% d`r% vr% ous 

fuolUra eke~ oujkt:is.kkfi nz’Vqa lTtk% HkoUrq v/kquk ;r% dkssI;U;% fo/kkrq% fu.kZ;e~  

 

vU;FkkdrqZa l{ke% dkd% vjs vfgeqd~A u`R;frfjDra dk ro fo”ks’krk ;r~ Roa oujktink; 
;ksX;a eU;kegs o;e~A 

   e;wj% & ;r% rr u`R;a rq izd`rs% vkjk/kukA i”; i”; ee fiPNkueiwoZa lkSUn;Ze~A u dkssfi  

=SyksD;s eRln`”k% lqUnj%A oU;tUrwukeqifj vkØ.ka drkZja rq vga LolkSUn;sZ.k u`R;su p 
vkdf’kZra d`Rok oukr~ cfg’dkfj’;kfeA 

I.  ,dinsu mÙkjr          [½x2=1] 

(i)  dsu if{kdqye~ voekfura tkre~\ 

(ii)  dks u tkukfr ro /;kukoLFkke~ bfr d% dFk;fr\ 

II.  iw.kZokD;su mÙkjr         [1x2=2] 

(i)  ojkdku~ ehuku~ d% dFka p Hk{k;fr\ 

(ii)  fo/kk=k e;wj% if{kjkt% dFka d`r%\ 
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 18 v/kksfyf[kr “yksdL; vUo;a eatw’kkr% mfpra ina fpRok fjDrLFkkukfu iwj;rA     [½x4=2] 

  Okk;qe.Mya Hk`”ka nwf’kra u fg fueZya tye~A  

  dqfRlroLrq fefJra Hk{;a leya /kjkrye~AA 

  dj.kh;e~ cfgjUrtZxfr rq cgq”kqn~/khdj.ke~AA 

vUo;%& ok;qe.Mya (i)  -----------------nwf’kra] fueZya tye~ fg u] (ii)  -----------------dqfRloLrqfefJra 
leya (iii)  -----------------vUrtZxfr rq (iv)  -----------------dj.kh;e~ cgq”kqn~/khjdj.ke~ 

 

 

vFkokvFkokvFkokvFkok    

eatw’kk;k% lgk;su iznÙk”yksdL; HkkokFksZ fjDrLFkkukfu iwjf;Rok iqu% fy[kr& 

lEiÙkkS o foiÙkkS p egrkesd:irkA 

mn;s% lfork jDrkS jDrk”pkLre;s rFkkAA 

vL; Hkko% vfLr ;r~ lw;Z% (i)  --------------] le;s vfi  (ii)  --------------Hkofr] rFkSo egkUr% 

 

(iii)  --------------lEiÙkkS vkxrs lfr vfi “kkUrk% HkofUr ,oeso (iv)  --------------vkxrs vfi rs “kkUrk% 
,o fr’BfUrA 

 

 

19 v/kksfyf[kr &dFkka”ka leqfpr &Øes.k fy[kr        [½x8=4] 

 (i)  iq=L; nSU;oLFkka n`’V~ok lqjfHk% nq%f[krk vHkor~\ 

 (ii)  ,d% d`’kd% vklhr~A 

 (iii)  lqjHksA beke~ voLFkka n`’V~ok lqjf/k;% rke~ vi`PNr~ “kqHksA fdeso jksfnf’k bfrA 

 (iv)  d`’kd% ra nqcZya o`’kHka rksnusu uqn~;eku% vorZrA 
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   Hk{;e~] Hk`”ke~] /kjkrye~] fueZye~ 

tuk% ] foiÙkkS ] mn;s ] jDr% 



 

 

 (v)  rL; lehis }kS cyhonkS vkLrke~A 

 (vi)  Øqn~/k% d`’kd% reqRFkkif;rqa cgqokja ;Ruedjksr~A 

 (vii)  l% o`’kHk% gye~ m<~ok xUrqe~ v”kDr% es=s irkr~A 

 (viii)  r;ks% cyhonZ;ks% ,d% “kjhjs.k nqcZy% vklhr~A 

 

 

*************** 
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   DELHI PUBLIC SCHOOL 
  SAIL TOWNSHIP RANCHI 

               HALF YEARLY EXAMINATION (2020-21) 

  

Class-X                                                    Subject: French 

Time: 3 Hrs.                                            M.M: 80 

PART 1 

Section – 1 

Culture and civilisation      : 10 MARKS 

 

I. Cochez la bonne réponse.                       5M 

1. Le petit chaperon rouge est écrit par ___________.  

a. Perrault    b. Jacques Prévert    c. Van Gogh  

2. Le petit chaperon rouge est un _______.  

a. un conte      b. un reportage     c. l’éditorial  

3. Quand on est malade, on va chez le ____________.  

a. problèmes     b. travail      c. Médecin    

4. Céline Dion est ______________ célèbre.  

a. une actrice     b. une journaliste    c. une chanteuse  

5. Après les études secondaires, on s’inscrit _________.  

a. au lycée      b. au collège       c. à l’université     

 

II. Choisissez la bonne réponse.               5M 

1. Qui a écrit Le Renard et les raisins ?  

b. Jean de la Fontaine   b. Antoine de Saint Exupéry  c. Jules Verne 

       2.   Qu’est-ce qu’on trouve à la bibliothèque ?  

 a. des BD      b. des médicaments    c. des souvenirs  

     3.     Quel diplôme obtient-on à la fin des études secondaires en France ?  

 a. le brevet      b. le certificat d’excellence  c. le bac  

     4.     Où se trouve la Corse ?  

 a. en France      b. au sud de la France    c. en Afrique    

     5.    Quand est-ce qu’il faut arroser le jardin pour conserver de l’eau ?  

 a. le week-end    b. le soir      c. tous les jours  

  

  

  

  



Section 2 

(Expression écrite)  :    10 MARKS 

III. Complétez l’histoire. (5 au choix)                     5M 

On n’a jamais retrouvé ceux qui ont (1) ______ la guitare d’Alex. Mais Il en a une autre. C’est son (2) 

______ ami, Max qui la lui a prêtée. Les deux garçons jouent dans des fêtes (3) _______ gagner un peu 

d’(4)_______. Ils ont beaucoup de succès. (5)_____ les examens fin-terme, ils seront en troisième. Peut-

être, ils ne (6) ________ pas continuer à jouer ensemble à partir de l’année (7) ______. Ce sera la fin 

d’une belle aventure.  

1. a. volé       b. joué                     c. aimé  

2. a. grand      b. meilleur      c. ancien  

3. a. pour       b. à        c. et  

4. a. argent      b. salaire      c. musique  

5. a. pendant      b. après      c. avant  

6. a.pourront      b. iront       c. viendront  

7. a. dernière      b. scolaire      c. prochaine  

Salut Yann,  

Tu sais, vendredi après-midi, je (1) _________ avec mes parents pour acheter des poissons pour 

notre aquarium. Ils ont choisi des poissons noirs (2) _______ moi, j’ai (3) _______ un poisson jaune. 

Mon poisson est moins grand mais il est (4) _______.   

Le soir, on est allé dîner à un restaurant assez (5) _______. Mais je l’ai (6) ______ un peu bizarre.  

Nous sommes rentrés (7) _______ minuit.  

A bientôt  

Benoit  

 

 

IV. Complétez le message. (5 au choix)                        5M 

 

1. a. suis allé en ville    b.suis amusé        c. ai pris de l’argent   

2. a. ou        b. mais         c. parce que  

3. a. préféré      b. commandé        c. attrapé  

4. a. laide       b. joli          c. stricte  

5. a. populaire      b. grand        c. cher  

6. a. vu        b. remarqué        c. trouvé  

7. a. pour       b. vers                        c. la  

  

Section 3  

(Grammaire)     : 15 MARKS 

V. Cochez la bonne réponse – les verbes. (3 au choix)                                   3M 



1. Vous conduissez  une voiture pour ________ au restaurant.  

 b. aller   b. allez  c. allé  

2. Le week-end dernier, il ___________ beau.  

a. feras      b. faisait      c. fait  

3. Hier soir, nous _____________ dans le jardin, après le dîner.  

a. nous sommes promené   b. nous avons promenés        c. nous sommes promenés  

VI. Cochez la bonne réponse – les pronoms (le, la, les, moi, toi, y, en…). (3 au choix)               3M 

1. Tes livres, je te ____ ai rendus hier !  

 b. leur    b. les        c. le  

2. Tes amis t’attendent devant la salle de professeur. Vas-___ vite !  

a. en       b. les        c. y  

3. C’est l’anniversaire de mes parents. Nous emballons un cadeau pour _____.  

a. eux       b. les        c. ils  

4. Mon cousin est malade. Je ______ téléphone de temps en temps.  

a. le        b. se        c. lui  

VII. Cochez la bonne réponse – les pronoms possessifs (le mien, les tiennes…). (3 au choix)         3M 

1. Mes jupes sont plus longues que _________.  

 b. les tiens      b. la tiens      c. les tiennes  

2. Vous admirez sa montre et lui, il aime bien ________  

a. la vôtre      b. la tienne      c. la mien  

3. Voilà vos dossiers. Où sont ______ ?  

a. les miens      b. le mien      c. les miennes  

4. Tes enfants sont pénibles. ______ sont très gentils.  

a. le miens      b. les miens      c. la mienne  

VIII. Cochez la bonne réponse – les pronoms relatifs composés (au quel, avec lesquels..). (3 au choix)     3M 

1. Voici ta table ________ le chien se cache.  

 b. sur lequel      b. sous laquelle     c. dans lequelle  

2. Comment s’appelle le cinéma ______ tu as vu un film hier soir ?  

a. pour lequel     b. auquel    c. sans lequel  

3. C’est l’hôtel ________ nous sommes restés pour une semaine.  

a. avec lequel   b. devant lequel    c. dans lequel      

4. Le théâtre _______ j’habite, est en construction  

a. près duquel   b. dans lequel     c. à côté de laquelle  

IX. Cochez la bonne réponse – la négation. (3 au choix)       3M 

1. Il n’y a _______ dans le parc la nuit.  

 b. jamais      b. personne      c. plus   

2. ________ n’est difficile.  

a. plus      b. pas       c. rien  

3. Il n’y a _____ stylo dans la trousse.  

a. aucun      b. plus       c. pas  

4. Je n’ai ________ fini mon travail.  

a. rien b. pas encore  c. nulle part  



  

 

Section 4  

(Compréhension) : 5 MARKS 
  

X. Lisez le texte et cochez la bonne réponse. (5 au choix)            5M 

Il y a 18 mois, à l’école, on se moquait de moi et m’appelait “Le gros”. Je passais des heures et des 

heures à jouer à des jeux vidéo. Je ne faisais plus de sport. Et puis, devant l’ordinateur, c’est facile de 

manger des chips et des barres de chocolat. Pendant les repas, je ne mangeais presque rien. Je 

préférais manger des hamburgers et des frites au ‘Fast-food’ avec des copains. Je ne voulais pas les 

viandes et les légumes.   

C’est mon frère aîné, qui est médecin, qui a vu que j’étais malheureux. Il m’a dit de faire quatre heures 

de sport par semaine et de manger seulement ce qui était préparé à la maison. Pas de hamburgers-

frites, pas de sucreries!  

Au début ce n’était pas facile mais petit à petit, je pensais moins à manger. Et puis, j’ai vite commencé 

à perdre du poids. Ça m’a beaucoup encouragé! Maintenant, je suis plus heureux car je suis bien en 

pleine forme. Ce n’est pas si difficile, croyez-moi!  

1. Dans le texte, l’auteur  

a. partage des recettes des cuisines intéressantes  

b. veut aider les jeunes qui sont gros  

c. demande des suggestions   

2. Les autres se moquaient de cette personne parce qu’il   

a. mangeait trop de hamburgers et de frites  

b. était très gros  

c. faisait du sport  

3. D’après l’auteur, perdre des poids,   

a. c’est facile  

b. c’est difficile  

c. c’est incroyable  

Cherchez dans le texte  

4. Un verbe à l’infinitif   

a. manger      b. encouragé      c. se moquait  

5. Un pronom  

a. puis      b. moi       c. la  

Complétez avec les mots du texte  

6. Quand on a de la fièvre, on va chez le ______.  

 a. copain       b. frère       c. médecin  

7. Il y a ______ de choses à voir à Paris  

 a. pas    b. Rienmé 

  c. beaucoup  



PART B 

 
            Section 5  

(Culture et Civilisation)  : 10 MARKS 

 
XI. Répondez aux questions suivantes. (5 au choix)         (5X2=10)  

1. Nommez quelques villes importantes de la France.  

2. Décrivez la Corse.  

3. Que doit-on faire si on cherche un emploi ?  

4. Qu’est-ce c’est “ La sécu” ?    

5. Que fait le médecin ?  

6. Comment est-ce qu’on peut réduire le réchauffement de la Terre ? 7. Où faut-il aller pour acheter 

des médicaments ?  

  

Section 6  

(Expression Écrite : 7 MARKS 

 
XII. Écrivez une lettre de 80 mots  (1 au choix)         (7X1=7)  

1. à votre ami(e) canadien (ne) lui parlant du système éducatif en France.  

2. àvotre cousin(e) français(e) lui racontant un voyage que tu as fait pendant les vacances  

  

Section 7  

(Grammaire)  : 18 MARKS 

 
XIII. Conjuguez les verbes entre parenthèses  (6 au choix)      (6X1=6)  

1. Quand je suis arrivé, le cours _________ .(commencer déjà)  

2. Nous ___________ ( nager) très bien. 

3. Quand ma mère _______ dans ma chambre,  je parlais au téléphone. (entrer)  

4. Après _____ mon travail, j’ai vu un bon film à la télé. (compléter)  

5. On ____________ ( visiter) cette maison l’ année prochaine. 

6. Lorsque Nathalie s’inscrira à l’université, elle ______ ses études secondaires. (finir)  

7. Quand j’étais jeune, je _____ chez mes grands-parents pendant les vacances d’été.(aller)  

8. Dans dix ans, ils __________ en espagne. ( être) 

  

XIV. Mettez les phrases au style direct ou indirect, selon le cas. (3 au choix)  (3X1=3) 

             1. Naomi demande à sa sœur cadette: « Tu as un problème ? »  

2. Catherine dit à Yssette qu’elle ne se sent pas bien.  

3. Amandine dit à ses parents : « Écris-moi une fois par mois. »   

4. Le professeur demande au garçon ce qu’il fait.  

  

XV. Mettez au négatif. (3 au choix)            (3X1=3)  

1. Donne-moi ton cahier!        



2. Quelqu’un a lu Le Petit Prince.  

3. Vous avez acheté quelque chose pour votre ami d’enfance.   

4. J’invite Quentin et Maxime pour la fête.  

  

XVI. Trouvez la question. (3 au choix)            (3X1=3)  

1. Ma famille ira en france l’année prochaine   

2. Ils viennent de New York.  

3. Non, elle n’a pas joue avec moi 

4. Parce qu’il est malade. 

XVII. Remplissez par les pronoms personnels directs. (3 au choix)      (6X0.5=3)  

1. Pauline a acheté les pommes.  

2. Ils fera son devoir. 

3. Vous donnerez ce livre.  

4. 4. Mireille lit cette revue.  

  

Section 8  

(Compréhension)  : 5MARKS 
  

XVIII. Lisez le texte et répondez aux questions suivantes. (5 au choix)    (5X1=5)  

  

Je m’appelle Sylvie et je vis dans un petit village qui est situé à 12 kilomètres de la ville. Mes amis 

habitent à la ville alors j’aimerais y habiter moi aussi. Nous allons au collège à la ville. Mes amis y vont 

à pied mais ce n’est pas facile pour moi. J’y vais à bicyclette et ça prend au moins une heure !   

Aussi, je n’aime pas vivre ici, il n’y a rien à faire le soir, pas de cinéma, pas de bons restaurants. Il n’y a 

plus de bus après 18 heures !  Je demande souvent à mes parents de déménager à la ville mais ils ne 

veulent pas partir. Eux, ils aiment beaucoup le calme de la campagne.   

Ensemble, on a trouvé une solution. À partir de l’année prochaine, je ferai un petit boulot pour 

économiser de l’argent. Je pourrai sortir deux fois par semaine avec mes amis. Ce serait formidable !  

  

1. Où habite Sylvie ?  

2. Pourquoi aimerait-elle habiter en ville ?  

3. Pourquoi Sylvie dit-elle que ce n’est pas facile d’aller au collège ?  

4. Pourquoi n’aime-t-elle pas vivre dans le village ?  

5. Qu’est-ce qu’elle demande souvent à ses parents ?  

6. Pourquoi les parents de Sylvie veulent-ils rester à la campagne ?  

7. Quelle solution ont-ils trouvée ?  
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I. 
Lies die folgenden Texte und wähle zwei Texte aus. 

Löse die Aufgaben zu den Texten. (Attempt the questions for any 2 texts) 

5X2 

=10 

 Text A 5x1=5 

 Mein Traumberuf 

Am Wochenende findet in unserer Stadt das 12. Schultreffen statt. Wichtigstes 

Thema: Wie kann man mehr Studenten und Studentinnen für den Lehrberuf 

interessieren? Der Beruf gilt oft als sehr anstrengend. Wir fragten den 

Mathematiklehrer Manfred Bode, der seit 24 Jahren nach seinen Erfahrungen 

unterrichtet. 

Der Beruf ist anstrengend, aber er ist auch nie langweilig. Es gibt so viele 

verschiedene Aufgaben. Natürlich unterrichte ich, aber ich mache auch Elternabende, 

nehme an Konferenzen teil, organisiere Klassenfahrten. In diesem Jahr unterrichte ich 

die Fächer Mathematik und Erdkunde in zwei zehnten und einer siebten Klasse. 

Insgesamt habe ich 65 Schüler und Schülerinnen. Alle sind verschieden und ich muss 

alle gut kennen, damit ich auch gerechte Zensuren geben kann. 

Für meine Arbeit brauche ich gute Ideen, klare Regeln und Spaß am Unterricht. 

Abends bereite ich meine Studien vor oder ich korrigiere Hausaufgaben oder 

 

General Instructions 

Read the given instructions carefully and follow them: 

1. This paper has two sections Part A and Part B. 

2. Part A consists of objective type questions. 

3. Part B consists of descriptive type questions. 

4. Read the instructions carefully and attempt only the required number of questions 

where internal choices are given. 
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 Klassenarbeiten. Ich weiß nie, ob der Tag gut wird oder einfach nur anstrengend. Denn 

jede Klasse ist anders. Das gefällt mir. 

In den zehnten Klassen ist die Situation am schwierigsten. Für die Schüler und 

Schülerinnen sind gute Zensuren jetzt besonders wichtig, denn es geht um den 

Schulabschluss. Viele wissen auch noch nicht, was sie später werden wollen, ob sie 

auf eine höhere Schule gehen oder eine Lehre machen sollen. Viele Eltern wollen 

unbedingt, dass ihr Kind Abitur macht und studiert. Aber das ist vielleicht nicht 

immer das Richtige. Die Gespräche mit den Eltern sind sehr wichtig. Manchmal 

treffe ich einen Schüler ein paar Jahre nach seiner Schulzeit wieder. Wenn er oder 

sie erzählt, dass die Lösung, die wir damals gefunden haben, genau die richtige 

war, bin ich sehr stolz. Dann denke ich: Ja, ich habe einen Traumberuf.” 

 

 Welche Antwort ist richtig? a, b oder c?  

1. Was unterrichtet Manfred Bode? 

a. Nur Mathematik. 

b. Mathe und Erdkunde. 

c. Alle Fächer. 

1 

 
2. 

Was braucht er für seine Arbeit? 

a. Er braucht gute Ideen und klare Regeln am Unterricht. 

b. Er braucht gute Ideen, klare Regeln und Spaß am Unterricht. 

c. Er weiß nicht, was er am meisten im Unterricht braucht. 

1 

3. Was ist besonders wichtig für die Schüler der zehnten Klasse und warum? 

a. Gute Zensuren 

b. Traumberuf 

c. Hausaufgabe und Klassenarbeit 

1 

4. Warum brauchen die Schüler der zehnten Klassen gute Zensuren? 

a. Denn es geht um den Schulabschluss. 

b. Denn das ist eine richtige Lösung. 

c. Denn viele wollen auf eine höhere Schule gehen. 

1 

5. Was wollen die meisten Eltern unbedingt? 

a. Dass ihr Kind eine Lehre macht. 

b. Dass ihr Kind einen Traumberuf hat. 

c. Dass ihr Kind Abitur macht und studiert. 

1 

 Oder  

 Text B 5x1=5 

 Dünn und schön? 

Wenn ich heute meine Fotos von damals sehe, denke ich: „Wahnsinn, wie dünn ich 

war.“ Das war vor zwei Jahren … Ich bin magersüchtig geworden, als ich 14 war. Und 

es hat so einfach angefangen. Zuerst wollte ich nur ein bisschen abnehmen, ein paar 
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 Kilo runter. Dann hatte ich ein Erfolgserlebnis. Ich hatte keinen Hunger mehr, also habe 

ich fast gar nichts gegessen. Ich habe kaum gemerkt, wie schnell ich Gewicht verloren 

habe. Ich habe unter 32 Kilo gewogen und oft ist mir beim Aufstehen schwindlig 

geworden. Die anderen haben immer gesagt: „Du kannst umkippen.“ Aber ich habe es 

nicht geglaubt. Natürlich war mir immer kalt, aber das habe ich nicht gemerkt, weil ich 

mich daran gewöhnt habe. Bis heute weiß ich eigentlich nicht, was der Grund für meine 

Krankheit war. Zuerst war für mich nur das Gewicht wichtig. Doch dann war auch das 

nicht mehr so wichtig … 

Es war wie ein Zwang. Später, so denke ich heute, ist noch was dazugekommen: Ich 

wollte nicht erwachsen werden. Nur meine Schwester hat die Gefahr erkannt. Ich 

selbst habe lange nicht eingesehen, dass ich krank war. Am Ende bin ich mit meinen 

Eltern zu einem Psychologen gegangen und habe eine Therapie gemacht. Zwei Jahre 

bin ich hingegangen. Gott sei Dank ist es jetzt vorbei. 

 

 Welche Antwort ist richtig? a, b oder c?  

1. Was hat Julia mit 14 Jahren gemacht? 

a. Sie hat zu viel gegessen. 

b. Sie hat zu viel abgenommen. 

c. Sie hat zu viel gewogen. 

1 

2. Welche Krankheit hatte Julia? 

a. Sie hatte immer viel Hunger und hatte Übergewicht. 

b. Sie war immer schwindlig und hat umgekippt. 

c. Sie war magersüchtig. 

1 

3. Was waren die Symptome von Julias Krankheit? 

a. Schwindlig werden und sich kalt fühlen. 

b. Schnell zunehmen und zu viel wiegen 

c. Zu viel essen und umkippen. 

1 

4. Was hat sie gegen die Krankheit gemacht? 

a. Überhaupt nichts, weil sie sich daran gewöhnt hat. 

b. Sie hat fast gar nichts gegessen. 

c. Sie besuchte einen Psychologen und hat eine Therapie gemacht. 

1 

5. Wie lange hat die Therapie gedauert? 

a. Ein Jahr. 

b. Zwei Jahre. 

c. Drei Jahre. 

1 

 Oder  

 Text C 5x1=5 

 Ein Schuljahr im Ausland  
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 Nächstes Jahr werde ich ein ganzes Schuljahr an einer High School in den USA 

verbringen. Ich will diese Erfahrung machen, um selbstständig zu werden und mich 

persönlich weiterzuentwickeln. In Boston werde ich bei einer Gastfamilie wohnen und 

dadurch den amerikanischen Lebensstil kennen lernen. Eine bessere Methode, um eine 

andere Kultur intensiv zu erleben und die Sprachkenntnisse zu verbessern, gibt es nicht! 

Zehn Monate sind natürlich eine lange Zeit. Ich war noch nicht so lange weg von zu 

Hause. Ich weiß, ich werde ab und zu Heimweh haben und meine Familie vermissen. 

Aber ich werde das schon schaffen! Damit die Kontakte zu meinen Freunden nicht 

abreißen, werde ich sie regelmäßig online treffen oder einfach mit ihnen skypen. Nach 

diesem Auslandsjahr werde ich ohne Probleme weltweit studieren können. So ein 

Schuljahr ist nicht gerade billig: 8500 Euro kostet das ganze Programm. Zum Glück habe 

ich ein Stipendium bekommen und werde nur den Zug bezahlen. - Sophie 

 

 Welche Antwort ist richtig? a, b oder c?  

1. Warum hat Sophie ein Schuljahr in den USA verbracht? 
a. Weil sie selbstständig werden will. 
b. Weil sie amerikanischen Lebensstil mag. 
c. Weil sie Heimweh hat. 

1 

2. Wie lange ist sie in den USA geblieben? 
a. Zwölf Monate lang. 
b. Zehn Monate lang. 
c. Acht Monate lang. 

1 

3. Wie bleibt sie mit ihren Freunden in Kontakt? 
a. Sie regelmäßig treffen. 
b. Mit ihnen telefonieren. 
c. Sich mit ihnen online unterhalten. 

1 

4. Was wird Sophie nach diesem Jahr machen? 
a. Im Ausland studieren. 
b. Ein Stipendium bekommen. 
c. Bei einer Gastfamilie wohnen. 

1 

5. Wie viel hat sie für das ganze Programm bezahlt? 
a. 8500 Euro 
b. Nur für den Zug. 
c. Nichts. 

1 

 oder  

 Text D 5x1=5 
 Die Essgewohnheiten der Deutschen 

Die Deutschen haben wenig Zeit. Deshalb ersetzen Fastfood und Tiefkühlkost immer 

öfter das Essen zu Hause. Gleichzeitig wird das Interesse an Bio-Produkten und 

Feinkost immer größer. Die Currywurst ist der Fastfood-Klassiker in Deutschland. Über 

60 Millionen Stück essen die Deutschen jedes Jahr. Aber auch Döner, Hamburger oder 

Pizza sind sehr beliebt. Selbst gekocht wird immer weniger in Deutschland – dafür 
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 aber umso mehr in Kochshows im Fernsehen. Ein Ersatz für das gemeinsame Essen am 

Tisch. Doch es gibt Ausnahmen: Die Vereinigung „Slow Food" z.B. versucht, die 

Menschen dazu bewegen, ihr Essen wieder richtig zu genießen. Die Slow-Food- 

Mitglieder kochen gerne und nehmen sich Zeit beim Essen. Auch kaufen sie Produkte 

aus der Region, um heimische Erzeuger zu unterstützen. Damit unterscheiden sich die 

Slow-Food-Anhänger von den meisten Deutschen, denn viele haben wegen der Arbeit 

oder der Freizeitaktivitäten nicht mehr die Zeit, selbst zu kochen. Deshalb wird immer 

mehr Tiefkühlkost gekauft – 3,3 Millionen Tonnen werden jedes Jahr gegessen. 

Gleichzeitig werden aber auch Bio-Lebensmittel immer beliebter: Fast 6 Milliarden 

Euro geben die Deutschen für diese aus, dreimal so viel wie vor zehn Jahren. Auch 

gibt es eine große Gruppe von Menschen, die eine Menge Geld für Feinkost ausgeben. 

Ob Trüffel, exotische Gewürze oder edle Weine, die Feinschmecker legen Wert auf 

gute Qualität und guten Geschmack. Das Angebot an Feinkost- und Bioprodukten 

wächst genauso schnell wie das an Billig- und Tiefkühlprodukten. So sind in 

Deutschland, kulinarisch gesehen, richtige Parallelgesellschaften entstanden. 

 

 Welche Antwort ist richtig? a, b oder c?  

1. Welches Fastfood-Gericht ist in Deutschland ein Klassiker? 
a. Döner 
b. Currywurst 
c. Hamburger 

1 

2. Was essen die Deutschen nicht so oft, weil sie keine Zeit haben? 
a. Bio-Produkten und Feinkost 
b. Hausgemachtes Essen 
c. Fastfood und Tiefkühlkost 

1 

3. Wie heißt die Vereinigung der Menschen, die gern kochen? 
a. Slow Food 
b. Slow-Food-Anhänger 
c. Fastfood 

1 

4. Was machen die Mitglieder der Vereinigung? 
a. Sie schauen sich Kochshows im Fernsehen. 
b. Sie kaufen immer mehr Tiefkühlkost. 
c. Sie nehmen sich Zeit beim Essen. 

1 

5. Warum werden die Tiefkühlprodukten immer beliebter bei den Deutschen? 

a. Weil sie Wert auf gute Qualität und guten Geschmack legen. 

b. Weil das Angebot groß ist. 

c. Wegen der Arbeit oder der Freizeitaktivitäten. 

1 

Frage 

Num. 
GRAMMATIK 16 

II. Ergänze vier Sätze mit der richtigen Präteritumform. Wähle a, b oder c aus. 

(Attempt any 4) 

4X1=4 

1. Unsere Lehrerin  letztes Jahr wirklich sehr freundlich. 
a. war 

1 
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 b. wart 
c. waren 

 

2. Mein Bruder  schon gut lesen und schreiben, als er 6 war. 
a. konnten 
b. konntet 
c. konnte 

1 

3. Ich  die Aufgabe nicht. 
a. verstehen 
b. verstand 
c. verstanden 

1 

4. Wir  alle viel arbeiten. Es war wirklich sehr anstrengend. 
a. mussten 
b. müsste 
c. musste 

1 

5. Ich  wirklich Glück! Meine Noten waren sehr gut. 
a. haben 
b. hatten 
c. hatte 

1 

III. Ergänze drei Sätze. Wähle das Adjektiv mit der richtigen Adjektivendung aus. 

(Attempt any 3) 

3X1=3 

1. Ich finde die  Schlagehose modern. 
a. grünen 
b. grüne 
c. grünes 

1 

2.   Woche hat es geregnet. 
a. Letzten 
b. Letzte 
c. Letztes 

1 

3. Gestern habe ich einen  Roman gelesen. 
a. interessante 
b. interessanter 
c. interessanten 

1 

4. Mein  Freund heißt Markus. Er ist aus Berlin. 
a. beste 
b. bester 
c. besten 

1 

IV. Ergänze drei Sätze mit der richtigen Form der Adjektive: Positiv, Komparativ oder 

Superlativ. Wähle a, b oder c aus. (Attempt any 3) 

3X1=3 

1. Muhammad Alam ist zwei Meter und 51 Zentimeter groß. Er ist der  Mann der 
Welt. 

a. größte 
b. groß 
c. größer 

1 
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2. Hat eine Sekretärin wirklich  Berufschancen, wenn sie Englisch und Deutsch kann? 
a. besten 
b. guter 
c. bessere 

1 

3. Wie komme ich am  zu einem Arzt? – Geh die Königstraße entlang und dann links. 
a. schnellsten 
b. schneller 
c. schnell 

1 

4. Äpfel esse ich gern, aber Mangos esse ich viel  . 
a. liebte 
b. lieber 
c. liebsten 

1 

V. Ergänze drei Sätze mit der richtigen Präposition. Wähle a, b oder c aus. 
(Attempt any 3) 

3X1=3 

1. Wo liegt die Post? – Da,  dem Kino. 
a. auf 
b. in 
c. neben 

1 

2. Im Sommer fahren wir wieder  die Türkei. 
a. nach 
b. in 
c. zu 

1 

3. Bei schönem Wetter kann ich länger  Garten arbeiten. 
a. im 
b. am 
c. um 

1 

4. Felix sitzt endlos lange  dem Fernseher. 
a. über 
b. vor 
c. am 

1 

VI. Ergänze drei Sätze mit der richtigen Konjunktion. Wähle a, b oder c aus. 

(Attempt any 3) 

3X1=3 

1. Ich kann heute nicht ins Kino mitkommen,  ich Fieber habe. 
a. weil 
b. ob 
c. obwohl 

1 

2. Oskar ist nicht sicher,  er alle Aufgaben richtig gelöst hat. 
a. weil 
b. wenn 
c. ob 

1 

3. Sia war am Morgen zu spät aufgestanden,  der Wecker rechtzeitig geläutet hatte. 
a. ob 
b. obwohl 
c. weil 

1 
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4. Nina weiß,  ich gestern nicht zur Schule gegangen bin. 

a. ob 
b. obwohl 
c. dass 

1 

Frage 

Num. 

KURSBUCH 
14 

VII. Lies den Text und ergänze die passenden Wörter. Was ist richtig? 4X1=4 

 Gut oder Günstig? 

Lehrer Schüler und Eltern (1)   (bewerten/probieren/lösen) in vielen 

Schulen in Kӧln Alternativen zum bisherigen Kantinenangebot und geben Noten von 1 

bis 6 für Aussehen, (2)  (Geschmack/Leistung/Konsum) und Qualität der 

neuen Gerichte. Auf die Frage, wo es denn besser schmeckt, zu Hause oder in der 

(3)  (Restaurant/Testessen/Kantine), sieht Testesser Robin Hӧrmann in der 

Gesamtschule Rodenkirchen erst kurz zu seiner Mutter Sandra. Sie ist auch 

Testesserin und vom neuen Schulessen positiv (4)    

(überrascht/ungefähr/überzeugt). „Genauso gut wie zu Hause“, sagt Robin dann, und 

seine Mutter lacht: „Er hat total recht!“ 

 

VIII. Lies den Text und wähle die richtigen Antworten aus. 5X1=5 

 Toki Pona - eine total einfache Sprache 

Kann man eine neue Sprache in nur einem Monat lernen? Die Erfinderin von Toki Pona 

behauptet das. Deutsch, Englisch oder eine andere Sprache, die man in der Schule 

lernt, kann man bestimmt nicht in 30 Tagen lernen. Deutsch hat mehr als 300 000 

Wörter, English noch mehr. Ungefähr 15000 Wörter benutzt ein deutscher 

Muttersprachler aktiv beim Schreiben und Sprechen. So viele Vokabeln kann man nicht 

in einem Monat lernen, nicht einmal in einem Jahr. Denn Vokabeln lernen ist ziemlich 

anstrengend. Es geht aber auch anderes, behauptet Sonja Lang. Sie ist Sprachlehrerin 

und Übersetzerin aus Kanada und ärgert sich darüber, dass viele Sprachen so 

kompliziert sind und hat eine neue Sprache erfunden, die sie 2001 im Internet 

vorgestellt hat: Toki Pona. Das Alphabet hat nur 14 Buchstaben und die Sprache 

besteht aus nur etwa 120 Wörter, die ihr Form auch nicht verändern. 

 

1. Welche Sprache kann man in einem Monat lernen? 

a. Deutsch 

b. Toki Pona 

c. Deutsch oder Englisch 

1 
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2. Warum hat Sonja Lang eine neue Sprache erfunden? 

a. Weil andere Sprachen kompliziert sind. 

b. Weil sie Muttersprachler ist. 

c. Weil es anstrengend ist. 

1 

3. Wie viele Wörter benutzt ein deutscher Muttersprachler aktiv? 

a. 120 Wörter 

b. 300 000 Wörter 

c. 15 000 Wörter 

1 

4. Warum ist Toki Pona so einfach? 

a. Weil die Sprache mehr als 300 000 Wörter hat. 

b. Weil die Sprache aus nur etwa 120 Wörter besteht. 

c. Weil man sie in der Schule lernt. 

1 

5. Warum kann man Deutsch nicht in 30 Tagen lernen? 

a. Weil die Sprache mehr als 300 000 Wörter hat. 

b. Weil die Sprache aus nur etwa 120 Wörter besteht. 

c. Weil man sie in der Schule lernt. 

1 

IX. Lies den Text und wähle die richtigen Antworten aus. 5X1=5 

 Moin! Ich bin Sven und komme von der Insel Amrum. 

Das Klima hier an der Küste ist mild und wir haben wunderschöne lange Sandstrände. 

Mein Lieblingshobby ist Kitesurfen. Die Touristen mieten hier Strandkörbe, um sich 

gegen den Wind zu schützen! Aber ein richtiger Nordfriese braucht das natürlich nicht. 

Für uns gehört der Wind einfach dazu! 

Servus Leute! Ich bin der Toni und komme aus Aschau. 

Das ist ein kleiner Ort in einem bekannten Tal in Österreich, im Zillertal. Kein Wunder 

also, dass ich den Winter und den Schnee liebe. Mein allerliebstes Hobby ist 

Snowboard-fahren! Das Foto ist echt cool, oder? Wir haben hier das höchste Gebirge in 

Mitteleuropa. Viele Touristen kommen zum Wandern und zum Skifahren hierher. 

 

1. Die Lieblingsfreizeitbeschäftigung von Sven ist ... 

a. Kitesurfen 

b. Snowboard-fahren 

c. Wandern 

1 

2. Das Lieblingshobby von Toni ist ... 

a. Kitesurfen 

b. Snowboard-fahren 

c. Skifahren 

1 

3. Das höchste Gebirge in Mitteleuropa liegt ... 

a. in der Schweiz. 

b. in Österreich. 

1 
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 c. in Deutschland.  

4. Viele Touristen kommen nach Aschau ... 

a. um Strandkörbe zu mieten. 

b. weil sie surfen wollen. 

c. denn sie wollen Skifahren. 

1 

5. Touristen mieten Strandkörbe, … 

a. um sich gegen den Wind zu schützen. 

b. weil sie surfen wollen. 

c. denn das Klima an der Küste ist mild. 

1 

 Part - B 

Descriptive Paper 

40 

Frage 

Num. LESEN 10 

X. Lies den Text und beantworte die Fragen. 2X5=10 

 Die Nudeln sind nicht nur zum Essen da, das haben die Schüler des Goethe- 

Gymnasiums aus Kassel mit interessanten Experimenten gezeigt. In diesem Jahr haben 

36 von 135 Schülern der 9 Klasse das Wahlfach Physik genommen. „Physik hat mich 

schon immer interessiert, weil sie simpel und logisch ist“, erklärt Anna Scharf (15), 

eines von drei Mädchen im Kurs von Physiklehrer Jens Pflüger. Thema des ersten 

Halbjahres im Physik- Wahlfach war „Brücken bauen“. Die Schüler mussten dabei auch 

ganz praktisch arbeiten und aus Nudeln Brücken bauen! Die Brücken mussten 

mindestens einen Meter lang sein und zehnmal mehr Gewicht tragen können als sie 

selber wiegen. Also, wenn eine Brücke 2 Kilogramm hatte, musste sie 20 Kilogramm 

tragen. Die Schüler durften nur mit Nudeln und heißem Klebstoff arbeiten. Ein halbes 

Jahr haben die jungen Physiker in Gruppenarbeit die „Nudel- Brücken“ konstruiert. Am 

Ende haben sie dann ihre Modelle präsentiert. 

Die stabilste Brücke aus Nudeln ist 1,6 Kilogramm schwer und trägt über 17 Kilogramm. 

„Da kann meine zweijährige Tochter sitzen, und die Brücke geht nicht kaputt“, sagt 

Physiklehrer Jens Pflüger. „Ich finde es cool, dass wir aus Nudeln Brücken gemacht 

haben“, sagt Anna. Ihr und den anderen Schülern hat der Job als Brücken-Konstrukteur 

Spaß gemacht. 

 

1. In welchem Fach haben die Schüler Experimente gemacht? 2 

2. Wie findet Anna Scharf Physik? 2 

3. Welche Materialien durften die Schüler bei der Brückenkonstruktion benutzen? 2 

4. Wie lange haben die Schüler an den Modellen gearbeitet? 2 
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5. Wie viel Gewicht mussten die Brücke tragen können? 2 

Frage 

Num. 
SCHREIBEN 10 

XI. Schreib eine E-Mail. Mach Aufgabe A oder B. 1X5=5 

 Aufgabe A  

 Du bekommst die folgende E-Mail von Petra. 

Liebe(r)  , 

wie du weißt, habe ich am 11. August Geburtstag. Ich werde endlich 16! Ich gebe zu 

Hause eine Party und möchte dich einladen. Lisa, Nicole und Felix kommen auch. Die 

Party findet bei mir zu Hause im Garten statt und ich hoffe, es regnet nicht! 

Die Party beginnt um 16 Uhr. Komm aber bitte ein bisschen früher, so kannst du mir 

helfen. Bring bitte deine Gitarre mit. Dann können wir singen und tanzen. Und bring 

bitte auch etwas zum Trinken mit, z.B. eine Flasche Cola oder Apfelsaft. Also, ich warte 

auch dich! 

Bis bald! 

Deine Petra 

 

 Antworte auf die E- Mail. Schreib etwas zu allen 4 Punkten: 

 sich bei ihr bedanken 

 zusagen 

 Hilfe anbieten 

 nach dem Weg fragen 

 

 Oder  

 Aufgabe B  

 Deine Schwester hat sich ein Tattoo auf ihrem Arm machen lassen. Du überlegst dich, 

ob ein Tattoo auch für dich eine gute Idee wäre. Dazu möchtest du auch die Meinung 

deines Freundes/ deiner Freundin haben. Schreib ihm/ihr eine E-Mail. 

Schreib etwas zu allen 4 Punkten: 

 Wie sieht das Tattoo aus? 

 Wie kam deine Schwester auf die Idee? 

 Warum möchtest du auch ein Tattoo? 

 Frag nach der Meinung deines Freundes/ deiner Freundin. 

 

XII. Schreib einen Dialog. Mach Aufgabe A oder B. 1X5=5 

 Aufgabe A  

 Dein Freund Lukas hat sich für den Kochunterricht in der Schule angemeldet. Du 

überlegst dich, ob es auch für dich eine gute Idee wäre. Du fragst nach der Meinung 

von deinem Freund. Was sagst du? Was sagt er? 
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 Oder  

 Aufgabe B  

 Dein Freund hat neulich einen neuen Laptop gekauft, um am Online-Unterricht 

teilzunehmen. Ihr diskutierst über verschiedene Marken im Markt und die Kosten. Er 

will jetzt neue Apps herunterladen. Schreib dazu einen Dialog. 

 

Frage 

Num. 
GRAMMATIK 15 

XIII. Ergänze den Text mit den richtigen Adjektivendungen. 6 X 0.5 

= 3 

 Mia möchte ein neu Kleid kaufen. Sie geht ins Geschäft. Die Verkäuferin zeigt ihr 
einige Kleider. Das rot     Kleid gefällt Mia am  besten. Aber dann sieht sie einen     
blau    Rock und eine gepunktet    Bluse. Die hell     Bluse passt gut zu dem blauen 
Rock. Sie kauft die beiden gleich, denn sie will diese nächst Woche anziehen, wenn 
sie zum Konzert geht! 

 

XIV. Mach Aufgabe A oder B. Schreib den Text im Präteritum um. 6 X 0.5 

= 3 

 Aufgabe A  

 Unsere Klasse organisiert ein Klassenfest. Wir haben viele Ideen. Die Mädchen müssen 

alles allein erledigen und viel einkaufen. Die Jungen helfen nicht. Trotzdem unterhalten 

sich alle gut! Wir haben viel Spaß. 

 

 Oder  

 Aufgabe B  

 Am Samstag kann Uwe nicht aufstehen. Sein Fuß ist dick. Deshalb bleibt er im Bett. 

Am Mittwoch geht er mit der Mama zum Arzt. Er muss Medikamente nehmen. Am 

Montag steht er schon auf, denn er ist wieder gesund. 

 

XV. Verbinde die Sätze mit richtigen Konjunktionen und schreib einen Text. 6 X 0.5 

= 3 

 Lena liegt heute im Bett. Sie ist krank. (weil)  

 Sie muss zum Arzt. Es geht ihr morgen nicht gut. (wenn)  

 Lena nimmt keine Medikamente. Sie hat hohes Fieber. (obwohl)  

 Sie ist nicht sicher. Kann sie morgen zur Schule gehen? (ob)  

 Ihre Mutter sagt. Sie soll viel Gemüse essen. (dass)  

 Sie isst jeden Tag Karotten. Sie schmecken ihr nicht. (obwohl)  

XVI. Ergänze mit Positiv, Komparativ oder Superlativ der Adjektive. 6 X 0.5 

= 3 

 Meine Eltern heißen Petra und Bernd. Mein Vater ist drei Jahre  (alt) als meine 

Mutter.  Meine  Mutter ist so  (schön) wie meine Oma. Ich habe noch einen 

Bruder. Er heißt Maik und der ist am   (jung). Mein Bruder kann schon gut lesen, 

aber ich kann es  (gut). Maik spielt gerne mit Lego, aber ich  lese    
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 (gern) ein Buch. In der Schule bekommt Maik viele Hausaufgaben, aber ich bekomme 

natürlich  (viel). Jetzt ist es schon ganz spät geworden, ich erzähle euch 

später mehr von meiner Familie. Tschüss! 

 

XVII. Mach Aufgabe A oder B. Ergänze die richtigen Präpositionen. 6 X 0.5 

= 3 

 Aufgabe A  

 
zu – unter – auf – bei – am – in 

Liebe Tanja, 

Wir machen Urlaub und sind nach Tirol gefahren. Wir wohnen  einer kleinen 

Pension direkt  Fluss  des  Berges.  Mama  liegt den ganzen Tag   der 

Sonne. Papa  ist fast den  ganzen Tag  Mama.  Einmal sind wir   _ den 

Berg zu einer gemütlichen Berghütte gefahren und haben dort übernachtet. Das war 

schön! In ein paar Tagen sind wir wieder   Hause. 

Deine Nina 

 

 oder  

 Aufgabe B  

  nach – auf – zur – bis – neben – an   

Fahrer: Entschuldigung, wie kommen wir  Bank? 

Polizist: Fahren Sie geradeaus.  der zweiten Ampel biegen Sie  rechts ab. 

Fahren Sie   zur nächsten Ampel und biegen Sie dann links ab. Die 

Bank ist  der rechten Seite  der Post. 

Fahrer: Vielen Dank! 

Frage KURSBUCH 5 

XVIII. Welches Wort passt? Ordne die Wörter zu. 0.5X10 

= 5 

 
Stunde ● ausgeschaltet ● angerufen ● Dieb ● Computer-Fan ● 

Hause ● installiert ● wartete ● eigene ● aufpassen 

Handy gestohlen: 

Letzten Freitag war Simon M mit ein paar Freunden im Westbad in München Pasing. 

Eigentlich sollte immer einer von ihnen auf Geld und Handys   (1). Aber 

dann gingen sie alle zusammen schwimmen. Eine halbe  (2) später kamen sie 

zu ihren Sachen zurück und Simons Handy fehlte. „Gelegenheit macht Diebe“, wie man 

sagt.  „Ich  habe  mein Handy gleich   (3), aber nichts gehört“, erzählte 

Simon. Das Handy war  (4). Also gingen die Jugendlichen zur Polizei und 

machten eine  Anzeige.  Dann fuhren  sie nach  (5).  Doch  Simon  ist ein 
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 richtiger  (6). Er hat auf seinem Smartphone eine App    

(7), die ein Signal sendet, auch wenn jemand eine andere SIM-Karte einlegt. Er setzte 

sich zu Hause  an seinen  Computer und  (8). Und wirklich schaltete der 

  (9) irgendwann das Handy ein. Das war am Samstagabend. Er legte seine 

  (10) SIM-Karte ein und ging mit Simons Smartphone ins Netz. So konnte 

Simon sich von seinem Computer auf das gestohlene Handy einloggen. Die 

Handykamera machte ein Foto und Simon sah, dass der Dieb Bayern- München- 

Bettwäsche hat. 
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DELHI PUBLIC SCHOOL  

  SAIL Township, Ranchi 
PREBOARD EXAMNATION 2020 

Class: X       Subject: Information Technology 
Max Marks: 50         Time: 2 Hrs 

 
General Instructions: 

 Read the question paper carefully. 

 Question paper is divided into two sections A & B: 

 Section A – Objective Type  

• Attempt 24 out of 30 questions, each question holds 1 mark  

 Section B –Short Answer   

• Part-A: Answer 3 of out of 5 questions. Answer these questions in 20-30 words each. Each 

question carries 2 marks : 2 x 3 = 6 marks  

• Part-B: r any 04 out of 06 questions. Answer these questions in 20 – 30 words each. Each 

question carries 2 mark: 2 x 4 = 8 marks 

• Part-C: Answer any 03 out of 5 questions. Answer these questions in 50-80 words each. Each 

question carries 4 marks:4 x 3 = 12 marks 

                                                                                                  

SECTION A 
 

[1] Answer any 4 out of 6 questions (1 x 4 = 4 marks)  

i. Henna wants need to apply leave at work for attending a family function? Which method 
of communication will she use? 
(a) e-mail     (b) Poster    (c) Newsletter    (d) Blog  
 
 

1 

ii. 
Sneha often gets tensed during exam time. She is a sincere and studious student, but 
the thought of exams creates anxiety in her. Which stress management technique that 
you would suggest to help her? 
a) Yoga b) Exercise c) Vacation with Family d) All of these 

1 

iii. Ravi works hard to get the best student award at the end of year. What type of motivation 
is this? 
(a) Internal 
(b) External 
(c) Both internal and external 
(d) Not any specific type of motivation 
 

1 

iv. According to the concept of sustainable development, the environment and development 
are___________________ issues. 
a) Inseparable b) Separate c) Independent d) None of these 

1 

v. What is the term used when you press and hold the left mouse key and move the mouse 
around? 
(a) Highlighting 
(b) Dragging 
(c) Selecting 

1 
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(d) Moving 

vi A crucial role is played in Entrepreneurship for the  _______of the society. 
a) Functioning     b) Planning         c) Evolving d) Developing 

1 

 

[2] 
 

Answer any 5 out of 6 questions (1 x 5 = 5 marks) 
 

i. Which is not an instant messaging service application? 
a) Skype b) Telegram         c) GoogleTalk d) All 

1 

ii. 
If your device is kept in charging mode all through, then the device would be 
___________   
a) Alright       b) Lose life       c) Over heated        d) Cut off 

 

1 

iii. Rohit want to explain his brother about the mails he receives from various 
marketing agencies and companies to his mail id to describe about their product 
marketing. Those mails are called_____________ 
a) Inbox b) Outbox                c) Spam                   d) Draft 
 

1 

iv. Á  is a device that converts digital computer signals into a form (analog 
signals) that can travel over phone lines and vice versa. 
a) Repeater b) Switch c) Router d) Modem 

1 

v. 
   is specifically designed to minimize or maximize the result 
according to a set of rules that you define in a spreadsheet. 
a) Goal Seek b) Scenario c) Solver d) Subtotal 

1 

vi. What is the correct sequence of steps to insert an image? 
1. Select the image to be copied. 
2. Open source document and the target document. 
3. Move the mouse & press Control+C  
4. Move the mouse & press Control+V 
5. Switch to the target document. 
 

a) 1>2>3>4>5         b) 2>1>3>5>4           c) 5>4>3>2>1      d) 2>1>4>3>5     

1 

[3] Answer any 5 out of 6 questions (1 x 5 = 5 marks)   

i. 
Harsh was asked to draw a flowchart to find the Area of rectangle in a Word 
document. Which option(s) should he use to solve this problem? 
a) Symbols    b) Shapes c) ClipArt d) Pictures 

1 

ii. Fatima has inserted a picture in a document. But she wants to cut off a part of the 
picture. Which option she should use to accomplish the task? 
a) Cut b) Copy c) Crop d) Layout 

1 

iii The cross-section between a row and a column in a spreadsheet is called _________ 
a) Cell b) Table c) Row d) Column 

1 
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iv. Mail merge is a term that enables to_________________ 
a) Merge all the mails in inbox                b) Send all the mails to same id 
c) Send the same mail to different ids    d)  Send all the mails in spam 

1 

v. A  is a model that you use to create other documents. 
a) Styles b) template c) Wizard d) Sample 

1 

vi In a Spreadsheet a formula begins with a  symbol/sign. 
a) $ b) = c) @ d) # 
 

1 

 

[4] Answer any 5  out of 6 questions (1 x 5 = 5 marks)  

i.   is a tool to add a sequence of code as a formula could be used multiple 
times. 
a) Scenario b) Solver c) Macro d) Average 
 

1 

ii. To calculate data from multiple sheets in a worksheet of Spreadsheet we may use 
________ symbol/sign 
a) $      b) %     c) &    d) ! 

1 

iii. 
Data Redundancy is a problem of____________ of data, which is being solved in 
DataBase. 
a) Multiplication      b) Addition       c) Reduction         d) Repetition 

1 

iv. A/An__________  statement is used to modify a column in a database. 
 

a) Alter              b) Update                c) Select                d) Create 

1 

v. An assignment to survey of age wise literacy rate of the local area in   I  being done 
by Krisha and Kavita as their school project and they have created a Spreadsheet 
to keep the records. They want to work simultaneously to complete the project on 
time. Which option they should use to access the same Spreadsheet to speed up 
their work. 
a) Consolidate Workbook b) Share Workbook 
c) Link Workbook d) Combine Workbook 

1 

vi.       of a database which uniquely identifies each record. 
a) Primary Key b) Foreign Key c) both (a) and (b) c) None 

1 

[5] Answer any 5 out of 6 questions (1 x 5 = 5 marks)  

i. In database   is applied to access data, based on conditions. 
a) Forms      b) Reports          c) Queries        d) Table 

1 

ii. 
A table can have multiple  keys. 
a) Candidate key b) Alternate key c) Primary key d) both (a) and (b) 

1 

iii. Which one is not a DML type of command? 
a) insert into b) delete c) update d) alter table 

1 
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iv. Jharkhand government wants to make its own network connecting Ranchi, 
Jamshedpur, Dharnbad, Dultongung, Simdigha & Deoghar. The type of this 
network is_____________. 
a) LAN            b) WAN    c) MAN          d) PAN 
 

1 

v. Ishita wants to create a query from the scratch. Suggest her option to accomplish 
the task. 
a) Datasheet View b) Form View c) Design View d) Layout View 
 

1 

vi. __________data type of a database takes the values in the form of 0 and 1. 
a) Integer b) Text c) Boolean d) Memo 

1 

  

SECTION B: Part-A 

 

 Answer any 3 of out of 5 questions. Answer these questions in 20-30 words each. Each question 
carries 2 marks 

(2 x 3 = 6 marks) 

 

[6] Explain any two barriers in ‘Effective Communications’  
2 

[7] Mention any two misconceptions about the Entrepreneurship. 
2 

[8] Write important 4 steps for effective ‘Time Management’ 
2 

[9] What are the measures to be taken to increase the performance of a computer 
system? 

2 

[10] How Threats to the computer effect the security of personal information? Explain 
four points. 

2 

  

SECTION B: Part-B 
 

Answer any 04 questions out of 06. Answer these questions in 20 – 30 words each. Each 
question carries 2 marks.  

(2 x 4 = 8 Marks) 

 

[11] What is the use of reference between the multiple worksheets of a spreadsheet 
workbook? Explain with an example.  

2 

[12] 
How could you edit and update a table of contain in a Word document?  

2 

[13] 
How does Macros function in a Spreadsheet? What is its advantage? 

2 

[14 
Write any two advantages of online monetary transaction.  

2 

[15] 
Differentiate between Primary key and Foreign key.  

2 



[5] 
 

[16] Define the following Hot spots:-  
a) WIMAX  
b) Wi-Fi  

2 

 SECTION B: Part-C 
 

Do any 03 questions out of 5. Answer these questions in 50-80 words each. Each question 
carries 4 marks. 

(4 x 3 = 12 Marks) 
 

 

[17] Elaborate four different types of indentation provided in a Word Processor.  4 

[18] Explain two Architecture of Networks design: 4 

[19] What precautions must be taken to improve online security?  4 

[20] List any two advantages and disadvantages of DBMS. 4 

[21] a) Create the following table Student.  
 

Column name    Data Type                  Size    Constrain  
-------------------------------------------------------------------------- 
Regno               Integer                        4       Primary key     
Name                Varchar                      15  
Class                 Numeric                     3  
Average             Decimal                     5,2  
 

b) Consider the following table Student and write the queries (i) and (ii).  
                   
Table: Student 
Regno    Name           Class    Average  
---------------------------------------------------- 
1001       Rohit            10         90.90  
1002       Sumit            11         89.00  
1003       Rahim           11         92.75  
1004       Sujit              12         89.90  
1005       Mohit             10        98.75  
(i) Write a command to insert a new record with the following values :  
       (1006, “Geet‟, 10, 92.70).  
(ii) Write a query to display all records of the table whose average is more than 90  

OR 
Write a query to display all the records of a table in ascending order on class  

2+2 

 
 
 

### 


